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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271309
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592722019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: From the given responses, find the missing
letter in the series.

LO TW BE ??

Options:

1. = IL
2. % IT
3.« HL
4.+ M

Question Number : 1 Question Id : 54592722019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder: fow av fashedl 7 & A0l 3 ot 376 &1 AT AL

LO TW BE 77

Options:

1. = IL
2. = |T
3. = HL
4. v JM

Question Number : 2 Question Id : 54592722020 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Find out the next term.

A5D, F151, K25N, ?

Options:

1. = N445U
2. % LA44P
3. v P358
4.« M441P

Question Number : 2 Question Id : 54592722020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Tl Ug AT Hh

A5D, F15l, K25N, ?

Options:

1. = N445U
2. = L44P
3. v P35S
4. = M441P

Question Number : 3 Question Id : 54592722021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the series?

AD,BH,CL,DP,ET

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. AD
2. BH



3. DP
4. CL

Question Number : 3 Question Id : 54592722021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SEOlT # Teld UG Tl ?

AD, BH,CL,DP,ET

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. AD
2. BH
3. DP
4. CL

Question Number : 4 Question Id : 54592722022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. = Father

2. » Mother

3. = Sister

4. v Mother-in-law

Question Number : 4 Question Id : 54592722022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu 7w faereul & O favw a9 +I

1. = TOgar
2. % HIAT



3. % H@el
4. v HH

Question Number : 5 Question Id : 54592722023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. =« FH
2. % QS
3. % LN
4.+ TR

Question Number : 5 Question Id : 54592722023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev av fahedt & fava 1 o |

Options:

1. = FH
2. % QS
3. = LN
4. v TR

Question Number : 6 Question Id : 54592722024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose or find odd pair of words:

Options:

1. = (Bowling : Cricket)

2. » {Goalkeeper : Football)
3. # {Libero : Volleyball)

4. v { Point Gaurd : Hockey)

Question Number : 6 Question Id : 54592722024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few a0 Tredt 7 O RBYH N8 AT FI

1p.w(aﬁﬁ:ﬁﬁ«—d)

2.« (AR : FewTor)
3. » (forsr : afellaial)
4, v (9ig¢ s : i)

Question Number : 7 Question Id : 54592722025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTION: From the pairs of words you are to select the pair
which is related in the same way as the words of the f{irst pair.

FOOD : HUNGER :: WATER :

Options:

1. » Rest

2. = Night
3. v Thirsty
4. = Bed

Question Number : 7 Question Id : 54592722025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fader: farafel@a wead & fGU 710 Areur & @ gafdg osar i
g7

HsTel : E o Ulell :
Options:

1. = 3HH

2. = I0d
3. v IO



4. » foeaT

Question Number : 8 Question Id : 54592722026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

DIRECTION: In the following question, select the related
letter/word/number from the given alternatives.

COMB : HAIR ::

Options:

1. = Surgery : pain

2. v Knife : vegetables
3. » Book : author
4. = Cup : saucer

Question Number : 8 Question Id : 54592722026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fader: farafai@a vea & Ry a0 [ereul & O Gafda o=ar &r
T |

hET ; Mol
Options:

1. » eregfafhedr (oH) : &5
2. v T S IESEI

3. » JEdh : oWk

4, » FT : T

Question Number : 9 Question Id : 54592722027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTION: In the following question, select the related
letter/word/number from the given alternatives.

DAC : EBD :: HEG :

Options:

1. = KIH
2. = JFH
3. = I[HF
4. v IFH

Question Number : 9 Question Id : 54592722027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Torder: farafelid wead A 40 90 fghedl # @ Triedd
ETT/RTSS/TET I AT

DAC : EBD :: HEG :

Options:

1. = KIH
2. » JFH
3. = IHF
4. v IFH

Question Number : 10 Question Id : 54592722028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, if the word GOLDEN is coded as
GLEODN, then how is the word PLATINUM coded in that
language?

Options:

1. » PAUILTNM



2. » LAIULTNM
3. = PALUITNM
4. v PAIULTNM

Question Number : 10 Question Id : 54592722028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wﬁlﬁﬂ?—[;ﬁwﬁ, I GOLDEN gTsg s GLEODN
T H FIfeT RAT S1ar &, ar 39 AT 7 PLATINUM 218 &t
FO RET T FRET?

Options:

1. = PAUILTNM
2. = LAIULTNM
3. = PALUITNM
4. v PAIULTNM

Question Number : 11 Question Id : 54592722029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In a certain code language, if Drama is called as Green, Green
is called as Time, Time 13 called as Yoga, Yoga is called as
Team, Team is called as Cricket, Cricket is called as Bat and
Bat is called as Crowd, then what is the colour of grass in that
language?

Options:

1. * Drama
2. = Cricket
3. v Time

4. = Crowd

Question Number : 11 Question Id : 54592722029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tk [ATead g 91T A, I dAesh Fr AT Far Jar &, AT
I AT gl SIdTl &, AT I 9T hal A1dTl &, 1T hr TH

ET SIdT &, SIH I Tohehe @l SATAT &, Tshehe I S FHar ATl
g 3 & S S F& AAr §, T 35 91T # I T 36T 41
&7

Options:

1. = ollceh
2. » fehehe
3. v AT
4. = #Ts

Question Number : 12 Question Id : 54592722030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For the following groups of letters given in Column I, the
codes are given in Column II. Answer the question by finding
the codes for the groups from the given columns.

Column I Column [IT
(A) kill dog cat YZX

(B) tape Kill matcat | XEZV
(C) kill mat jeep tiger| X VWA

What is the code for kill?

Options:

1. =V
2. v X
3.= 7
4 = W

Question Number : 12 Question Id : 54592722030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HioA | 7 fGU 10 318 & forrafafad aagh & fore, e ||
#H Fe QU 77 &1 {40 a0 FiaA § @HgH & o0 Fc geht e

Gl Scdl a'l

Column I Column IT
(A) kill dog cat YZX

(B) tape Kill matcat | XEZV
(C) kill mat jeep tiger| X VWA

KIL & o7 e Far &7

Options:

1. = V
2. v X
3. % /2
4. = W

Question Number : 13 Question Id : 54592722031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight friends Kajal, Sneha, Pooja, Anjum, Ram, Priya, Pranjali
and Jivan are seated in a straight line, facing North, but not
necessarily in the same order. Jivan sits at the extreme right
end of the line. Only four people sit between Jivan and Sneha.
Both Kajal and Pooja are immediate neighbours of Sneha.
Only two people sit between Pooja and Pranjali. Pranjali is
not an immediate neighbour of Jivan. Anjum sits second to
left of Priya.

Who amongst the following sit exactly between Pooja and
Pranjali?

Options:



1. = Priya, Jivan

2. = Anjum, Ram
3. v Kajal, Sneha
4. = Anjum, Kajal

Question Number : 13 Question Id : 54592722031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS S FheTel, Foigl, =T, 31\313.!4, TH, =T, ureiter 3T Sige
T TR AT I&T A Scc HT 3R G Flh ST 91T g,
Afehal STET o181 T 38T A & &l Siigel @1 & foesher F1fgat
B W JoT &1 Shgd 3T THar & S had IR 6T 86 &l
Frotel 3R IS Alell Falgr & folsedd TS &1 Iorr 3T et
% I hael a1 oET 8 g Wisifel, Sifael 1 ol ISIAT g &
31, TORT & 910 & gl T W 3T ¢

frafaf@d # & sla qem 3 urafer & & areda # dad &7

Options:

1. = =T, Shae

2. = 3%:;&4, ITA

3. v hIoTdl, TAB]

4. = 31S[H, FeTel

Question Number : 14 Question Id : 54592722032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

More heavy the Balls more costlier they are. Rahul’s Ball is
heavier than Virat’s and costlier than Rohit’s. Dhoni’s ball is
costlier than Rahul’s but lighter than Kedhar’s. Rohit’s ball is
costlier than Virat’s. So who is the owner of the costliest ball?

Options:



1. = Virat
2. » Rahul
3. v Kedhar
4. = Rohit

Question Number : 14 Question Id : 54592722032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fotetell Samer #IRY 3lg 3cfstr &1 Fgatr ol ghefrl Tger 61 g
faRTe T Jerall A ST 3 QRT HT Jotam A AT &1 el hr
ﬁ‘c{@‘cﬁf@ﬂmﬁmﬁﬁ, kel HeR T Telall H Eeehl &
Afga Fr g e v gorar &7 AgAN ¥ A G AGIN A H
ATTolh i &7

Options:

1. = faqe
2.%1‘@
3. v $EX
4, = Qg

Question Number : 15 Question Id : 54592722033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




A five members research group is to be chosen from the
Cricketers Nitesh, Arun, Aditya and Mohseen and the Boxers
Priya, Neha, Simran and Kiran. At least 3 cricketers must be
in the group. However:

(1) Nitesh refuses to work with Mohseen.
(11) Arun refuses to work with priya.

(111) Neha refuses to work with Simran.
(iv) Mohseen refuses to work with Neha.

If Arun is chosen, who else would have to be definitely in the
group?

Options:

1. * Neha
2. # Simran
3. = Nitesh
4. v Aditya

Question Number : 15 Question Id : 54592722033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Torered: farder, areur, 3nfecy 3T AEfAer T serad: o=,
Agl, AT 3R 0T & @ U Hed T HTaure g
T Sl §1 §Hg A FF & wA 3 Fhaved glot =1gu| graifh:

(i) Torcier o AET & ATT FIH Flel T FhN Y AT
(i) 37%0T & BT & 1T FTH a0 T ShHT =T &2T
(iii) 98T o AT F T FTH Fa & FT HT 22T
(iv) AERAT o AT & T FIH e T SRR HT &7

ITE 37E0T T Yeoll ST &, o Tog A AT Flad Rad &7 @
BIT?

Options:

1. = A&7

2. = TOF
3. = forqer
4. v FecT

Question Number : 16 Question Id : 54592722034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sagar is ranked thirty fourth from the bottom in a class and
seventh from the top . How many students are there in this
class?

Options:

1. = 33
2. v 40
3. 41
4, % 42



Question Number : 16 Question Id : 54592722034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

PN Ueh &7 H ad 8 diadd 7 9T 3T 39 3 9194
AT W ¥l 29 FeT § fhda o 87

Options:

1. = 39
2. v 40
3. = 41
4. = 42

Question Number : 17 Question Id : 54592722035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are eight girls A to H was need to go for dance sessions
in two batches of four girls each. Following are the criteria:

(1) B and H have to go together
(2) D and F do not go together
(3) A and € never go together

If B and C go in the first batch, then who of the following can
be in the second batch?

Options:

1.« A, D,Hand G
2.« A C,Eand G
3.vA,D,Eand G
4.« A D, Fand G

Question Number : 17 Question Id : 54592722035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S T3fhaT A & H &I IR fHal & aF S & Jcd T &
forw STe &1 eafe@a Aees &:

(1) B 3T H 7 v 1y e &l
(2) D 3X F & T @1 8 SIelr &
(3) A 3T C =af1 OrT 18T S £

gfg B 31X C ugel s # Sid g, o foest & & il a1 g@
ST H & Gehar 87

Options:

1. = A, D, H 3R G
2.+ A, C, E3RG
3. vA, D, E3RG
4. = A, D, F3RG

Question Number : 18 Question Id : 54592722036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Directions: In the question below, there are three statements
followed by two conclusions. You have to take the given
statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given
conclusion logically follow(s) from the given statements.

statements:

I. All reds are whites.

I1. All whites are oranges.
III. All blues are reds.

Conclusion:
I. All whites are reds.
I1. All reds are oranges.

Options:

1. = Only conclusion I follows

2. v Only conclusion II follows

3. = Either conclusion I or II follows
4. = Neither conclusion follows

Question Number : 18 Question Id : 54592722036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forder: i fow a0 wed & It vyl 3R 3T+ o1 ar sy
fau arw &| 39U f2U 91T FUal FY T AT & Hol &7 3
AT Jar @ Biee uda g 8f @l oswst &+ ofew e
T FIeT fF T a7 fasewst # @ FidT I1 doged 37 8
HATIOT FIAT &, e FAAT T2 FS AT &l

HaTeT:
. Tl oTel, e &1
. @i ¥the, AT E
IIl. TAT sirel, Tl &1
IGLC P

.G Fhe, el B
||.E9T ofTel, ST &1

1. = I o fasry | G &

2. v Ifg &g fashy || Ocg &

3. « fg a7 faveps | AT || T &
4, « g A G ooahs | T |l O &

Question Number : 19 Question Id : 54592722037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the following question, there is a statement followed by
two courses of action, numbered I and II. You have to assume
everything in the statement to be true to decide which of the
two suggested courses of action logically follows for pursuing
Statement:

Alr pollution in India is reaching alarming levels.

Course of actions:

I. Ban use of insecticides.

I1. Institute a high level committee to find persons involved in
polluting India.

Options:

1. = Only I follows

2. = Only II follows

3. = Either I or II follows

4. v Neither I nor II follows

Question Number : 19 Question Id : 54592722037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafal@a oeaT &, T FU & &5 g sriarr | 37 1| g
IR ST FUe I Tcd ATl FT dF Flell & o &5 =T a
FrIAEr & T e AT dlicher T & TgT gl

Fee -
Wﬁﬁ@@ﬁ@?—ﬁ?td{ SERREEIR oy

FRIarfEaT:

|. ShIeaATerRl T Afee|

. AT T 9GS FHel arel FTFadl I Flelad & ToIT Teh
3T TR AT &1 5 Fe

Options:

1. = ohdol ToISehY | HTHTOT HTAT )
2. % haol Tasehy || HTEOT Tl Y
3. % Toisepy | T || HTELOT FIAT &
4. v P AT ToTShY 3HEOT GT FIAT

Question Number : 20 Question Id : 54592722038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will come in place of question mark and
complete the below series. This term 1s given as one of the
alternatives. Mark the correct alternative.

280,271,264,259 ,?

Options:

1. = 125
2. % 252



3. v 256
4, = 250

Question Number : 20 Question Id : 54592722038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A U 0 Toetiolf@d wesl #, g8 fdeheq T Sl weafiees
T ST 3T FX sl 4T TS ATl F AT HLIMM| Tg wee fge
Oheq & & & &7 47 &1 TET [Oheq I ATT I

280,271,264,259 7

Options:

1. = 125
2. % 252
3. v 256
4. = 250

Mental Ability?2
Group Number : 2
Group Id : 5459271092
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 5459271092
Section Number : 1
Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271310
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592722039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, one number is wrong in the series.
Find out the wrong number.

2, 10, 34, 105, 322
Options:

1. v 105
2. % 322
3. = 34
4. % 10

Question Number : 21 Question Id : 54592722039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToFaTolad weeT #, #@rell # Tk HEAT ol &1 el EEAT
AT hIeTw]

2, 10, 34, 105, 322

Options:

1. v 105
2. % 322
3. = 34
4. = 10



Question Number : 22 Question Id : 54592722040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options.

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1.98
2. 30
3.164
4.171

Question Number : 22 Question Id : 54592722040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w Irv Breur H O fHea H{sma«‘rgﬁl

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 98
2. 36
3. 164
4. 171

Question Number : 23 Question Id : 54592722041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair/group in each of the following
questions.

Options:

1. = 72:12
2. %114 :19
3.%78:13
4. v 119 :17

Question Number : 23 Question Id : 54592722041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafali@d uesd A fOvA §&AT atel I7A / THE FT YAV

Options:

1. = 72 : 12
2. = 114 : 19
3. = 78 1 13
4. v 119 : 17

Question Number : 24 Question Id : 54592722042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options.

Options:

1.« 11,17, 53
2. % 37,59, 53
3.% 71,73, 37
4. v 31, 36,17

Question Number : 24 Question Id : 54592722042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e arv fawA faweT #r 9a)

Options:

1. = 11, 1/, 83
2. = 37, 59, &3
3. = 71, 73, 37
4. v 31, 36, 17

Question Number : 25 Question Id : 54592722043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the related
letter/word/number from the given alternatives.

(240,251,264)

Options:

1. = (320,331,343)

2. v (320, 331, 344)
3. = {320, 330, 344)
4. = (320, 329, 344)

Question Number : 25 Question Id : 54592722043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

(240,251,264)

Options:

1. = (320, 331, 343)
2. v (320, 331, 344)
3. = (320, 330, 344)
4. = (320, 329, 344)

Question Number : 26 Question Id : 54592722044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following questions.

1 2 3
11 | 7 5
120] 45 ?

Options:



1. %193
2. % 17
3.v16
4. % 15

Question Number : 26 Question Id : 54592722044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GEGICECGR LG oI T&IT AT hIfaT

1 2 3
11 | 7 5

120 45 ?

Options:

1. = 19
2. = 17
3. v 16
4. = 15

Question Number : 27 Question Id : 54592722045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given interchanges: signs + and +, and numbers 9 and 6; then
the valueof 9~ 6 + 3- 7 is:

Options:

1.v2
2. % 4
3.2 0
4. %9

Question Number : 27 Question Id : 54592722045 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

feu a0 seena: Rieg + 3R+, 3 TEAT 9 3N 6; F HFTAR 9
+ 6 + 3 - 7 ST AT AT FEM?

Options:

1. v 2
2. = 4
3. = 6
4. = 9

Question Number : 28 Question Id : 54592722046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statement.

Statement:
S=A<P=R<T=U
Conclusions:
LU=A

I S<T

Options:

1. = Only conclusion I follows

2. * Only conclusion II follows

3. = Either conclusion I or II follows
4. v Neither conclusion follows

Question Number : 28 Question Id : 54592722046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A foT aTv wed A, T FUA F FE o Avhy fow aw &)
MYeRT 2T 9T el hT T AT &, Hol 87 T HTH J2IT &
foear 8 3T T o = T U 717 e & O i a1 oy

diferer €7 & 3HTELOT ] -y

Y
B=A<P>R<T=U
e

LU=A

o ST

Options:

1. » hgel ToIShY | HATLOT Tl g
2. % had Tashy || IHTEROT FIAT &
3. % Toisepy | T || HTELOT Il g
4. v w5 A ooy 37T EI0T STaT SR

Question Number : 29 Question Id : 54592722047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the following question, one number is wrong in the series.
Find out the wrong number.

124,172,228,290,364

Options:

1. = 172
2. % 364
3.v 290
4. %124

Question Number : 29 Question Id : 54592722047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafaf@a wear &, s/@er # U TCAT el &1 I TE&l
AT hITAT|

124,172,228,290,364

Options:

1. = 172
2. = 364
3. v 290
4. = 124

Question Number : 30 Question Id : 54592722048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among Cousins, Nephews and Males?

Options:



Question Number : 30 Question Id : 54592722048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad & @ wia @ O =R / 7R / A/ TR TS
SEeT, HciToll / TSl 3T ToY & &I gae skl geifar g7

Options:

.. QO

©

Question Number : 31 Question Id : 54592722049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given figure, the circle represents Smokers, rectangle
represents alcoholic addicts and triangle represents tobacco
chewer. which number represents Smokers who are tobacco
chewer, but not Alcohol addict?

Options:

1.+ 2
2.% 4
3.% 5
4 %6

Question Number : 31 Question Id : 54592722049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&r T AT & ged, YHIS Hlal arel HI, 3, AfGT
Hael FLet Tl FT 3N T, TTE e dATell FT ZATAT &
sl & HEAT AT Flal ATell I S2Mel & S derg =« &,
oIfeheT oRTE FAET Ui &7

Options:



1. v 2
2. % 4
3. # 5
4. = 6

Question Number : 32 Question Id : 54592722050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the series by choosing right figure from the given
choices.

Problem Figures
|
l

1 2 3 4

Options:

S

... B

Question Number : 32 Question Id : 54592722050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fgu v fashedt A & WEl 3oy eIl HZeT R T F|

WRe HIFled

1 2 3 4
Options:

S

... PR

Question Number : 33 Question Id : 54592722051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the series by choosing right figure from the given
choices.

Problem Figures

9,10, 9k

1 2 3 4




Options:

ool

4.#.9

Question Number : 33 Question Id : 54592722051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

feu v faskedt A & WEl 3cay Teishd HTelT R T |

WA IHFicd

A

3 4

Options:

o




2
. [

Question Number : 34 Question Id : 54592722052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing figure in the given matrix.

A |
Su]
X

Options:

\
W
X




4.ﬁ?><

Question Number : 34 Question Id : 54592722052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fev a1o #Afgsra 7 ofc 3HT A HIfeiv]

JAN

*

XEBE

Options:

1. =

X X

Question Number : 35 Question Id : 54592722053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Three of the four figures marked (A), (B), (C) and (D) are in a
sequence or similarity in some way. You have to choose the
figure which is odd /different:

Options:

&

Question Number : 35 Question Id : 54592722053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIEAa amgfaar (©), (=), @) 3K @) 7 § de & 7 a1
HATAT # U &1 3IRT TE IThict Telell gl ST fawe /
TeaT &

Options:



©

Question Number : 36 Question Id : 54592722054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many Squares are there in the figure given below?

Options:

1. = 7
2.v 8
3.%9
4, %5

Question Number : 36 Question Id : 54592722054 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

AR & S sty & Fhae @t ¥7

Options:

1. = 7
2. v 8
3. = 9
4. = 5

Question Number : 37 Question Id : 54592722055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given four positions of a single dice, find the
number of dots at the face opposite to the face having 1 dot.

Options:

1. %1
2. % 4
3.v06
4, %3

Question Number : 37 Question Id : 54592722055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



39 Wersh YT fogaf Hr #ear ugdre S o el W1 faig
gl 39« AT &l

I I 11 Y

2. = 4
3. v B
4. = 3

Question Number : 38 Question Id : 54592722056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question find the answer figure in which
question figure is embedded.

Questions Figure

|

Options:




4 v

Question Number : 38 Question Id : 54592722056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu 910 goe & o) 3MHT AT Hifav fomd gear smepfa

Aloalad &l

d e
|

Options:




Question Number : 39 Question Id : 54592722057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

Options:




4. =

Question Number : 39 Question Id : 54592722057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SleT &1 el 3THicT WoeT 3ThTd H Yol I [T FIE?

Options:




Question Number : 40 Question Id : 54592722058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following choices is the exact mirror image of
the main figure.

Question Figure

)|

Options:

1.~:f

Question Number : 40 Question Id : 54592722058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foaatfalEa & @ Fie @1 SheT AET 3P T T a0
oig g7

W HFicd

Options:

&

1. ¢

=

o

%

General Awarenessi

Group Number : 3

Group ld: 5459271093
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20
IsthisGroup for Examiner?: No

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessi

Section Id : 5459271093

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271311
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592722059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which country gifted Manipur, the Imphal Peace Museum?

Options:

1. = China

2. = Bangladesh
3. v Japan

4. » Norway

Question Number : 41 Question Id : 54592722059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SFHIe eMfcl TIGTord, AT i fohe 227 & 3UeR H fear am?

Options:

1. = =TeT
2. % FEATRLT
3. v ST
4, = Ad

Question Number : 42 Question Id : 54592722060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Who is awarded by Tansen Samman 2018?

Options:

1. = Pt. Dalchan Sharma
2. v Manju Mehta

3. = Savita Devi

4. » Pt. Ulhaas Kashalkar

Question Number : 42 Question Id : 54592722060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

a8 TFATT 2018 & oFd OFATad RaT =T 24T17?

Options:

1. % . ETeldel AT

2. v Ho[ Hgdl
3. » @iadr 2ar

4. % U, 3egM hIeTelehd

Question Number : 43 Question Id : 54592722061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following got the GI (Geographical
Indications) in 2019?

Options:

1. v Kolhapuri Chappal
2. » Kadaknath

3. » Banglar rasogolla
4. = Etikoppaka Toys

Question Number : 43 Question Id : 54592722061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fefel@a & & ore 2019 & Shamg (sftenfees deha) feam
T §7

Options:



1. v aﬁmgﬁatq?»r

2. * hghdld

3. = SISl THIMGT

4, = UfehItqererT TEeilad

Question Number : 44 Question Id : 54592722062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which state of India Kheer Bhawani Mela is held?

Options:

1. = Gujarat

2. » Maharashitra

3. ¥ Assam

4. v Jammu & Kashmir

Question Number : 44 Question Id : 54592722062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & FT T A T Harer Aar daifaa &ar smar &2

Options:
1. = JerTd

2.« FEWTSE

3. = 3EH

4. v EHQZL}T’IT FeHAR

Question Number : 45 Question Id : 54592722063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among the following tax which one is indirect tax?

Options:

1. = Income Tax
2. v Sales Tax
3. » Wealth Tax



4, = Corperation Tax

Question Number : 45 Question Id : 54592722063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A7 & SI9-91 =T 30T FT 57

Options:

1. = 3R
2. v T&ehT T
3. % dod T

4. » FEIET

Question Number : 46 Question Id : 54592722064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the richest state in India in 20197

Options:

1. » Tamil Nadu

2. » Uttar Pradesh

3. v Maharashtra

4. = Madhya Pradesh

Question Number : 46 Question Id : 54592722064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 # 9RT T G898 AN T HleT-aT &7

Options:

1.waﬁﬂ?n§
2. % 3cdd ucer

3. v FAERTSC
4, » FET UL

Question Number : 47 Question Id : 54592722065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



On what basis India is at third rank according to budget
speech of Arun Jaitley 2018-19?

Options:

1. = Gross Domestic Product

2. = Foreign Direct Investment
3. = Agricultural Production
4. v Purchasing Power Parity

Question Number : 47 Question Id : 54592722065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT Aol o 2018-19 o solc HTYUT AR AR g
YN 9T dreR T I 87

Options:

1. » Hehol B 3cUTG
2. » B2el ucaer fager

3. % GE'I_ET 39T

4. v FY oId HHAT

Question Number : 48 Question Id : 54592722066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which state of India a new species of paddy frog is found?

Options:

1. = Telangana
2. » Odisha
3. v Assam
4. = Kerala

Question Number : 48 Question Id : 54592722066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MRT & TFT T H UTaT Ageh T Tk o5 Tolliad I8 =T §7

Options:



2. = 3Ifgew
3. v MEH
4, = Flol

Question Number : 49 Question Id : 54592722067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What percent of households in rural India accessed to tollet
according to survey National Annual Rural Sanitary Survey
2018-19?

Options:

1. = 94.2 percent
2. » 94.5 percent
3. v 93.1 percent
4. = 93.4 percent

Question Number : 49 Question Id : 54592722067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI dTfveh ATATOT FAeSAT FAETOT 2018-19 & 3efdR ATHTOT
AT & Tohdel Alderd =T & fimerg $r giaar g7

Options:

1. = 94.2 wfqera
2. = 94.5 ufcera
3. v 93.1 yfaerd
4. = 93.4 ufcera

Question Number : 50 Question Id : 54592722068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The color of Tomato is red due to the presence of

Options:



1. = Beta Carotene
2. » Limonene

3. = Fructose

4. v Lycopene

Question Number : 50 Question Id : 54592722068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FT 3uTeAfd & FRUT TATET FT LT ool aldT &l

Options:

1. = ST FAAA
2. % forATee
3. = Theralal

M

[

4. v oITShIUT

Question Number : 51 Question Id : 54592722069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which element is used as timekeeper in the atomic clocks?

Options:

1. = Potassium
2. » Magnesium
3. v Cesium

4. » Vanadium

Question Number : 51 Question Id : 54592722069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCATY] Gf3dl A TAIATS (SBARTI) & &7 A foha dcg 1
3UeT RaT Srar &2

Options:

1. = €A
2. % HIALIH




3. v difeA
4. » qaASTH

Question Number : 52 Question Id : 54592722070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the Maternal Mortality Ratio in India as of July 2019?

Options:

1. = 167
2. % 218
3.+130
4. %178

Question Number : 52 Question Id : 54592722070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STells 2019 deh 3Ycley SllelehRl & @R AT Hc 3e9rd
o ¥ - L P ] o

T 87

Options:

1. = 167
2. = 218
3. v 130
4. = 178

Question Number : 53 Question Id : 54592722071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which tree annual growth rings are absent?

Options:

1. = Pine Tree

2. v Palm Tree

3. = Oaks

4. » Banyan Tree



Question Number : 53 Question Id : 54592722071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g A O Tohw ge1 A aiffe gig & sed fquitud gid 87

1. = g &7 U

2. v dIg &7 Ug

3. = 3o

4, = §IITG T U5

Question Number : 54 Question Id : 54592722072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following device measures depth of a sea?

Options:

1. = Altimeter

2. * Barometer
3. * Anemometer
4. v Fathometer

Question Number : 54 Question Id : 54592722072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArAa@T & & FiF-A7 3TFRIUT THZ HT TS KT ATIAT &7

Options:

1. = 3ecIART
2. = SHAIT
3. % UarAIART
4. v AT

Question Number : 55 Question Id : 54592722073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year Vitamin A was discovered?

Options:




1. = 1910
2. = 1911
3.+ 1912
4. % 1913

Question Number : 55 Question Id : 54592722073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faertesr A 1 @l fhg a¥ g5 A1

Options:

1. = 1910
2. % 1917
3. v 1912
4. = 1913

Question Number : 56 Question Id : 54592722074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Consider the following statement:

I. Ukai Dam is constructed on Taptl River.
II. Panchet Dam is constructed on Beas River.

Which statement is correct?

Options:

1.+ Only I
2. = Only II
3. = Both I and II
4. » Either I or II

Question Number : 56 Question Id : 54592722074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT @ag Fgd W B =

. 3RTS AT dredT dfal W AfAT &
. TR ST T AT sgg Far 9T AT T g

Slel-aT AT Tl & ?

Options:

1. v hael |
2. = gl |l
3.« | 3R Il =
4. = grar | vl

Question Number : 57 Question Id : 54592722075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Tribe lives in Arunachal Pradesh?

Options:

1. = Bodo tribe

2. » Chenchu tribe
3. v Nyishi tribe
4. = Toto tribe

Question Number : 57 Question Id : 54592722075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeed H & FId-8T SAdolllad UM U2l H &l &7

Options:

1. = SIS SAdalla
2. # T SfeTollic]

3. v oATSTEr STl




4. = TIET Foa

Question Number : 58 Question Id : 54592722076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which cyclone is termed as ‘rarest of rare’ by RIMES reports?

Options:

1. = Nilofar
2. » Fanl
3. % Gaja
4, v Titli

Question Number : 58 Question Id : 54592722076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIMES Rdic 2aRT ford Tshald T 'ZelsTd A Zolsl gl 1T &7

Options:

1. = TeTellt
2. % Wlal
3. = 3T
4. v Tader

Question Number : 59 Question Id : 54592722077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For what ‘karewas’ the lacustrine deposit in Kashmir is
known?

Options:

1. = Terrace farming
2. » Apple Orchards
3. v Saffron Cultivation
4. = Shifting Cultivation

Question Number : 59 Question Id : 54592722077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A S T e ganT fAaiua &y &, g forw Srer Srar &
?

Options:

1. = 237 @

2. = O o FET

3. v AT I BT

4. = AT Fedraer

Question Number : 60 Question Id : 54592722078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where does the oldest oil field of India located?

Options:

1. v Assam

2. = Gujarat

3. = Tamil Nadu

4. » Arunachal Pradesh

Question Number : 60 Question Id : 54592722078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT FT T QT doT &1 Fgl Fod g7

Options:

1. v 348H

2. % IoNId
3. % drHoATS
4

General Awareness?

Group Number : 4
Group Id: 5459271094



Group Maximum Duration :

Group Minimum Duration :

Show Attended Group? :

Edit Attended Group? :

Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :
Maximum Instruction Time:

Minimum Instruction Time:

No
No

20
No
Yes

General Awareness?

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

5459271094
1

Online
Mandatory
20

20

20

1
5459271312
Yes

Question Number : 61 Question Id : 54592722079 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
Nilgiri Tahr is :
Options:

1. = Cow
2. » Bull
3. v Goat
4. = Cat

Question Number : 61 Question Id : 54592722079 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

AT J&T 4T &7

Options:

1. = M

*

2. = €5



3. v FHT
4. = Toeelr

Question Number : 62 Question Id : 54592722080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following metal was used in India for the first
time?

Options:

1. = Iron

2. » Silver

3. v Copper

4. = Aluminium

Question Number : 62 Question Id : 54592722080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT # farafoli@a & @ food o1g &7 Ugell I 3T R
=T AT?

Options:

1. = o8l
2. = TIET
3. v drHT
4. = ToHATAIH

Question Number : 63 Question Id : 54592722081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year Goa was captured by Portuguese?

Options:

1. = 1410
2. v 1510
3. % 1515



4. % 1610

Question Number : 63 Question Id : 54592722081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁmaﬁﬁ?ﬂmwgﬁ?m?rqu HY o oar?

Options:

1. = 1410
2. v 1510
3. = 1515
4. = 1610

Question Number : 64 Question Id : 54592722082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Among the following which battle was fought between
Humayun and Sher shah Suri?

Options:

1. v Battle of Chausa
2. = Battle of Buxar

3. = Battle of Panipat
4. = Battle of Plassey

Question Number : 64 Question Id : 54592722082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%ﬁﬁ@ﬁﬁﬁaﬁa—?ﬁﬂ&égm{m%ﬁﬁﬁﬂﬁax@ﬂ
oI5 ATy oT?

Options:

1. v =97 T I8

2. % FFEY FT I4
3. » Ul & Ig
4. = TOTHT T IE




Question Number : 65 Question Id : 54592722083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the Viceroy of India at the time of civil disobedience
movement?

Options:

1. » Lord Wavell

2. » Lord Reading

3. = Lord Chelmsford
4. v Lord Irwin

Question Number : 65 Question Id : 54592722083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9T 3T AT 3EIed o AT NG kT drgddd hiel 2T?

Options:

1. = olis ddd

2. = ois §fzar

3. = o8 TelHIRIS

4. v g a4

Question Number : 66 Question Id : 54592722084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Mughal emperor enforced Sharia Law in India?

Options:

1. = Akbar
2. * Babur

3. v Aurangzeb
4, « Bahadur shah-II

Question Number : 66 Question Id : 54592722084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR H g H3TeT THC o GRAT Flefel o] FmaT?

Options:




B~ W N =
<

* SgIgl ATg- I

Question Number : 67 Question Id : 54592722085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Between the sixth and fourth centuries BC which Mahajanpad
was the most powerful?

Options:

1. v Magadha
2. % Anga
3. = Kasi
4. = Gandhara

Question Number : 67 Question Id : 54592722085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bol 3 AT <l ST 99 & S Fi-87 Agleleive o4
oTTeFeTRITell &UT?

Options:

1. v HITT

2. = 33T
3. % ohrell
4. = IR

Question Number : 68 Question Id : 54592722086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shaill Chopra 1is associated with:

Options:

1. = Classical singing



2. % Sports
3. » Acting
4. v Journalism

Question Number : 68 Question Id : 54592722086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eToll TIUST T oY Thad g7

Options:

1. = IEAT M
2. % TWel
3. » HTHAT

4. v IR

Question Number : 69 Question Id : 54592722087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following created the famous Tom and Jerry
Cartoon?

Options:

1. v Joseph Barbera
2. » Walt Disney

3. » Martin Goodman
4. = E.C. Segar

Question Number : 69 Question Id : 54592722087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feITetad # & Tordel viE A TS SRT e Ferar?

Options:

1. v SIE%H FRET
2. % dlec &oar
3. = HTice T




4, = F. . WIR

Question Number : 70 Question Id : 54592722088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which country awards Noble Peace Prize?

Options:

1. = Iceland

2. » Netherland
3. v Norway

4. = Germany

Question Number : 70 Question Id : 54592722088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aterel i QERR FoRE 22T 2@RT fear Srar &7

Options:

1. = 3SHeIs
2. # Slalavs
3. v &id
4, = STHT

Question Number : 71 Question Id : 54592722089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is India’s highest civilian award?

Options:

1. » Padma-Bhushan
2. » Padma-Shri

3. v Bharat- Ratna

4. » Padma-Vibhushan

Question Number : 71 Question Id : 54592722089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AFatef@a & O SHiea-ar TEERT R ] TafT ARIER
TR 87

Options:

1. = 9IeI-8§OT
2. % TIT-AT

3. v HNd- Icd

4. = g-Tas{or

Question Number : 72 Question Id : 54592722090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following book is written by Shashi Tharoor?

Options:

1. = Two Lives

2. v Bookless in Bagdad
3. = Mythologies

4, = Silent Spring

Question Number : 72 Question Id : 54592722090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MA T o AFAlel@T A F Fidd AT Gk ferdl g7

Options:

1. =

0

CIERE
2. v gheld T FIEIG

3. = ONTOTR AN
4. = TSelc U

Question Number : 73 Question Id : 54592722091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘The guide’ is written by :

Options:




1. = Barak Obama
2. = Ruskin Bond
3. v RK. Narayan
4. = Jane Austen

Question Number : 73 Question Id : 54592722091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g IS ganr forar = g

Options:

1. % SITR 3ETAT

2. % TThel Sles

3. v .. AT

4. = A €

Question Number : 74 Question Id : 54592722092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which article of Indian Constitution empowers the election
commission of India to issue rules and guidelines?

Options:

1. = Article 322
2. » Article 323
3. v Article 324
4. = Article 325

Question Number : 74 Question Id : 54592722092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT HIAUTe FT Fle-AT e AT F TeATd T
faa 3T e forder IR e T TIFR USTeT HIdT &7

Options:

1. = 3@@3322




2. = eﬁﬁ—c{ 323
3. ¢ 3-@1—_95?[ 324
4. = a@fa‘c: 325

Question Number : 75 Question Id : 54592722093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

During the making of Indian Constitution from which country’
s constitution the feature, ‘Procedure for amendment in the
Constitution’ 1s taken?

Options:

1. = Ireland

2. v South Africa
3. = Britain

4. = Germany

Question Number : 75 Question Id : 54592722093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIAT T & TAATOT o STeT T 327 & T 8
'TagTeT # gende $r ufsear o 18 &7

1. » 3RS
2. v GI&TOT 37WhIehT
3. % Tt

4. s SAHT

Question Number : 76 Question Id : 54592722094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the minimum age of person to be a Governor of the
State according to constitution of india?

Options:

1. v 35 years



2. % 40 Years
3. = 45 Years
4. = 50 Years

Question Number : 76 Question Id : 54592722094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT HITLT & e[AN, T T ToAUT Sefal & forv fora
AT T wAdHA 3G FAT glell TAMET?

Options:

1. v 35 @Y
2. % 40 T¥
3. = 45 a¥
4. = 50 ¥

Question Number : 77 Question Id : 54592722095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which reform or Act during the British rule in India has
given separate electorate to Muslims?

Options:

1. = Rowlatt Act

2. = Pitt’s Act

3. * Montagu-Chelmsford Reforms
4. v Morley-Minto Reforms

Question Number : 77 Question Id : 54592722095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wﬁ%ﬁﬁrﬁma:a‘maﬁmgwmaﬁﬁw?r

@Hmam‘i SR 3TeldT ToaT=rer HEol ST 2r?

Options:

1. = Tl T




2. % T &7 ATH
3. » AGY-IFHS FUR
4.&?#!1@'-%'@'%

Question Number : 78 Question Id : 54592722096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Indian community established the first Cricket Club in
India?

Options:

1. » Hindu
2. » Sikh

3. v Parsi

4. = Muslim

Question Number : 78 Question Id : 54592722096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fore TR THE & IR A Ugell fshehe Folel Tmiad foam
qT?

Options:
1. = &g
2. = Ta&
3. v UITET
4, = ﬂﬁﬂﬂ

Question Number : 79 Question Id : 54592722097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many players are there in water polo team?

Options:

1.2 6
2. ¢ 7




3.% 8
4 %9

Question Number : 79 Question Id : 54592722097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

are el STA H Tohciel TEeMST ald 87

Options:

1. = 6
2. v 7
3. = 8
4, = 9

Question Number : 80 Question Id : 54592722098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which city International Olympic Committee (I0C) opened
its headquarters?

Options:

1. v Lausanne
2. * Geneva
3. = Bern

4. = Basel

Question Number : 80 Question Id : 54592722098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fore @ET A HRTSET et FiATT (I0C) o 379« FEATer™
el §7

Options:

1. v oiiegd




Arithmetic Ability1

Group Number : 5
Group Id : 5459271095
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1

Section Id : 5459271095

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459271313
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592722099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question mark (?) in the following
question?

(0.5)2+ (0.2)2+2 % (0.5)(0.2)="?
Options:

1. = 0.94
2. % 0.39
3. v 049
4. = 0.69



Question Number : 81 Question Id : 54592722099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder: raTTolfiad 92=1 &/ Ye=Targe fdeg () & TAT= 9T #4731 91fgu
(0.5)2+ (0.2 +2 x (0.5)(0.2)="7
Options:

1. = 0.94
2. = 0.39
3. v 0.49
4. = 0.69

Question Number : 82 Question Id : 54592722100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTION: What should come in place of the question mark
(?) in the following question?

3x03x003x0003x30=7
Options:

1. = 0.0000243
2. » 0.000243
3. v~ 0.00243
4. % 0.0243

Question Number : 82 Question Id : 54592722100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forcer: Tealel@d e & Uesarae eg (?) o T 9T F41
HTeT ATgT?

3 x 0.3 x 003 x 0.003 x 30 =7

Options:

1. = 0.0000243



2. = 0.000243
3. v 0.00243
4. = 0.0243

Question Number : 83 Question Id : 54592722101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question mark (?) in the following
question?

2of413 +20f615="2
Fi 5

Options:

1. = 541
2.v423
3. =792
4. % 433

Question Number : 83 Question Id : 54592722101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Faeif@a wea A wedargs [Heg () 3 TA 9T 4T AT 9180
3 of413 +20f 615 =7
7 5

Options:

1. = 541
2. v 423
3. = 792
4. = 433

Question Number : 84 Question Id : 54592722102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question mark (7) in the following question?

3 of2ofZof 630 =7
5 7 5

Options:

1. = 90



2. %75
3. % 45
4. v 60

Question Number : 84 Question Id : 54592722102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder: ATatad 99 & weddEs feg (?) & TU 9¢ 347 =T 1ige?
630 HT=HTZHT> =7

5 T 5
Options:

1. = 90
2. % 75
3. » 45
4, v 60

Question Number : 85 Question Id : 54592722103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question mark (?) in the following
question?

2x7% -3 2243 -26+8

Options:

1.9
2. % 27

3.v3
4' % 31,.-’3

Question Number : 85 Question Id : 54592722103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T @ wea & wedargs [Aeg () & TA 9T 747 AT 18T
X7+ =2243-25+8

Options:



v 3

® 3 1/3

A

Question Number : 86 Question Id : 54592722104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question mark (?) in the following
question?

(V14.44 -2.5¢ +1.69="
Options:

1.+1
2.% 1.5
3.% 2.25
4, % 24

Question Number : 86 Question Id : 54592722104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder: Rafof@a 9o A weaarms Geg (0) F T 9T FT =T IR
(V14.44 - 257 +1.69=?

Options:

1. v 1
2. % 1.5
3. % 2.25
4. = 24

Question Number : 87 Question Id : 54592722105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

LeMof (2,2,2) is:

6" 10" 9

Options:



1. = 720
2. % 1440
3. v 360
4. = 2880

Question Number : 87 Question Id : 54592722105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
5 9 8

L A
(E’E’E) T TYIH HATTTA &

Options:

1. = 720
2. = 1440
3. v 360
4. = 2880

Question Number : 88 Question Id : 54592722106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six bells toll together at a certain time and after that each
keeps on tolling at an interval of 5, 10, 15, 20, 25, 30 seconds.
After how many seconds will they toll together again?

Options:

1. = 250
2. % 240
3. v 300
4. = 600

Question Number : 88 Question Id : 54592722106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bg "l Uk Taledd GHT 9T Udh @Y §Foldl & 3R 38% 915
acdeh 5, 10, 15, 20, 25, 30 s & Idld W Foldl &dl &l
fordel OF3 & 915 3 T & U T Foi9?




Options:

1. = 250
2. = 240
3. v 300
4. = 600

Question Number : 89 Question Id : 54592722107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

19541742 is divisible by which of the following?

Options:

1.+v11
2. %13
3.%9
4 % 12

Question Number : 89 Question Id : 54592722107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

19541742 TaFaToliEd # & g & oy &7

Options:

1. ¢ 11
2. = 13
3. = 9
4. = 12

Question Number : 90 Question Id : 54592722108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a prime number?

Options:

1. = 437
2. % 323



3. » 567
4. ¢ 241

Question Number : 90 Question Id : 54592722108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed & & i I T 0T J&AT &7

Options:

1. = 437
2. % 323
3. = 567
4. v 241

Question Number : 91 Question Id : 54592722109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average weight of Chintu, Chantu and Pintu is 26 kg. The
average weight of Chintu, Chantu is 28 kg and The average
welght of Pintu and Tintu is 23 kg. What is weight of Tintu ?

Options:

1.« 21 kg
2.v 24 kg
3. % 25.5 ke
4. % 28 kg

Question Number : 91 Question Id : 54592722109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIg, =g 3 g #1 3iad aeter 26 ferellama &1 Rig, 9 &
3 aoter 28 forellamdA 3R ¢ 3T feg 1 3EdT el 23
ferellamA &1 feg &1 aofer ar &7

Options:

1. % 21 TrellamTd




2. v 24 TReamH
3. = 25.5 TrellamH
4. = 28 TrelamH

Question Number : 92 Question Id : 54592722110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average age of Raman, Suman and Mohan is 34 years.
Five times the age of Mohan seven years ago was equal to
four times the age of Suman five years ago. Three times the
present age of Suman is equal to two times the present age of
Raman. Find the age of Suman five years hence.

Options:

1. v 35 years
2. % 28 years
3. = 39 years
4. = 40 years

Question Number : 92 Question Id : 54592722110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH, A 3T Al $T 3T 3Y 34 a9 §| T1d dlel I8
Al T 37 T 9 T I HTel EIBT»TWE%:;H F TR
AT & SR AT FH T TAATT 3 FT Vel AT, IHT hT
JAATeT 3 & 2T [T o & §| U Flel 1 AT kI 3H

FIT BT ?

Options:

1. v 35 @Y
2. % 28 a¥
3. = 39 a¥
4. = 40 ¥




Question Number : 93 Question Id : 54592722111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Marked prices of two mobiles are given in the ratio of 7:5. A shopkeeper gives
4+ ; . A . F .
28-% discount on first mobile. If the total discount on two mobiles is 20%. Find

the discount given by shopkeeper on second mobile?

Options:

1. = 10 percent

2. % 12.50 percent
3. # 4 percent

4. v 8 percent

Question Number : 93 Question Id : 54592722111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁm@ﬁfﬁrﬁlﬁaﬁq‘imﬁ?:ﬁﬂ?ﬂmaﬁﬁW@ﬂﬂmqﬁma@ﬂwzsg%ﬁ@f

& &1 TG 2 Alagel W AT T 20% o) gEY Hd@se W gHAGN ganl & S arel §e
& 9l oey|

Options:

1. = 10 wfderd
2. % 12.50 gfcera
3. = 4 yfcerd
4. v 8 gfcera

Question Number : 94 Question Id : 54592722112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person divide 41 % of his property among his three sons
Rohit, Sunil and Anand in the ratioof 11 : 13 : 17. If the sum
of the shares of Rohit and Sunil is Rs.72000. Find the
remaining property of the person.

Options:

1. = Rs. 3,00,000
2. % Rs. 1,23,000



3. v Rs. 1,77,000
4. = Rs. 1,96,000

Question Number : 94 Question Id : 54592722112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush Shfed YL Fafead T 41% 379a1 el st Qg Feirel
3 3ffeig A 11: 13: 17 & 3eard A Fiear g1 i g 37
Heilel & AL kT JaT 72000 & &1 <FfFd Fr A9 Fufea Ard
hITIT|

Options:

1. = 3,00,000 s9
2. = 1,23,000 392
3. v 1,77,000 392
4. = 1,96,000 392

Question Number : 95 Question Id : 54592722113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

th
In an office, 47 of the emplovees are men. 40 % of the men and 60% of the women have 4 - wheeler.

40% of themen and m% of the women having 4 — wheeler are married. If 25% of total 4 — wheeler
owner are married. What is the value of m?

Options:

1.+ 12.33
2. v 11.66
3. % 13.55
4. = 9.09

Question Number : 95 Question Id : 54592722113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HIEd H, % FHANT TFT 1 40% TE9T 3R 60% ARG & a9 4 - LR 81 40% T37 3R m%
Afge fSierds are 4- Bro 8, Faarfea 1 af Fer 25% 4 - Aok Fnfors Rarfea &1 m & #= FT 2

Options:



1. = 12.33
2. v 11.66
3. = 13.55
4. = 9.09

Question Number : 96 Question Id : 54592722114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

- ) ; .
In basket B, BE % more apples than that of basket A . In A | a% apples are rotten and in B, 25% more rotten
apples than A. Iftotal rotten apples in both the basket togetheris 32.4%. Find the percentage of rotten apples
in B.
Options:

1 v ~ 13

382 94
23

4, =

Question Number : 96 Question Id : 54592722114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aﬁBﬁaﬁAﬁWﬁsi%aﬁmﬁaﬁ A 2% ¥g TSTEATE 3B A, A Felar 7 25%
3ifie w7 gan d9 §1 IR A A F For W57 g3 A9 32.4% 1 B H WS 5 49 v wfded Ad
CAIE I
Options:

D
1. & J—iﬂﬁcﬁu



Question Number : 97 Question Id : 54592722115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper sells shirts in the scheme “ Buy 2 Get 1 free” and eams a profit of 33& %. Find his profit %

when he sells without this scheme.

Options:

1. = 530 percent
2. % 200 percent
3. = 75 percent
4. v 100 percent

Question Number : 97 Question Id : 54592722115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS GHIGR "2 TS 1 JF W"Mﬁaémﬁaﬂ?33§%aﬁwm§| = ATSTAT & =T
oY G FHHT AT % AT i |

Options:

1. = 50 wfqera
2. % 200 ufcqera
3. = 75 gfaera
4. v 100 wfaerd

Question Number : 98 Question Id : 54592722116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A man bought a bike and a car for Rs. 500000. He sold the
bike at a gain of 20% and the car at a loss of 10%, thereby
gaining 5% on whole. Find the cost of the bike?

Options:

1. = Rs. 200000
2. v Rs. 250000
3. #= Rs. 150000
4. = Rs. 180000

Question Number : 98 Question Id : 54592722116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk =TTed of 500000 =T H TH S5k 3T Tk FR LT
3Hel dTeh s 20% ol 3T I & 10% gifed I &7 30 =9
T 39 QX GI H 5% FT oM FAT| STk FT HT Hod
AT HL?

Options:

1. = 200000 &9
2. v 250000 93
3. = 150000 ¥
4. = 180000 ®

Question Number : 99 Question Id : 54592722117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A trader markup the article such that on selling it at the
marked price, the profit is 70% of the selling price but he sells
the article at 150% profit of the cost price. If the difference
between two selling prices is Rs.1750. Find the selling price
when it sold at 15% profit.

Options:

1. v Rs.2415



2. » Rs.2845
3. = Rs.1255
4. % Rs.2210

Question Number : 99 Question Id : 54592722117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush SUTIART Ueh TEJ I 30 dE 3lhad FIam g T 30 3iferd
Aed W a9l W oA, Tdshd Hed HT 70% BIAT & olfchel ag
T Hed & 150% o OT gEq T Swar gl Iie ar ok

Hedl & & 3a¥ 1750 9 &1 15% ofH 9T d<el 9 [eh3

Aed AT Y

Options:

1. v 2415 ¥4
2. % 2845 TqI
3. = 1255 ¥
4. = 2210 T

Question Number : 100 Question Id : 54592722118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The money with two persons Anil and Sunil are in the ratio of
3 : 4. Anil can spends money in 5 days and Sunil can spends
money in 6 days. Both spend money with their constant rate.
After how many days will their money be in the ratio of 9 :
207

Options:

1. = 1 day
2. = 2 days
3. = 3days
4. v 4 days



Question Number : 100 Question 1d : 54592722118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar sgfeadl siferel 3T Follel & & ¥AT 3: 4 & HequraT H &
3ffeter 5 feell # AT TR T TRl § 3N Feiter 6 fedl 7 Uam
T T bl &1 Sl 39T falae e & Iy %97 =< fld &
fordal el o &Te 3Rt 89T 9: 20 & 3HedTd H am?

Options:

1. = 1 e
2. % 2 TaaT
3. = 3 &
4. v 4 oo

Arithmetic Ability2
Group Number : 6
Group Id : 5459271096
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 5459271096
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 5459271314
Question Shuffling Allowed : Yes

Question Number : 101 Question 1d : 54592722119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four friends have money in the ratio of 17 : 20 : 23 : 26. Out of
four, one of the persons has Rs.6000 more than the other and
Rs.3000 less than the another. Find the total money with all
four.

Options:

1. v Rs.86000
2. » Rs.43000
3. * Rs.1,72,000
4. » Rs.98000

Question Number : 101 Question 1d : 54592722119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AN 2T & 9 17: 20: 23: 26 F 3fe[ura H YET §| AN A
T U chIFd h U 37 T Jelell H 6000 F9F SATET 3T
ga T JelalT H 3000 A & TIRT & I Fel AN AT I

Options:

1. v 86000 ®9
2. = 43000 ®
3. = 1,72,000 ¥4
4. = 98000 T

Question Number : 102 Question Id : 54592722120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Charan is 16 years younger than Amar, while Bharat is 10
years older than charan. The ratio of the age of charan 6
years hence and age of Bharat 14 years ago is 4 : 3. Find the
present age of Amar.

Options:

1. v 50 years
2. % 44 years
3. %= 54 years
4. % b2 years

Question Number : 102 Question Id : 54592722120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIOT, AT O 16 a¥ BT &, SAeTeh 9, ToT & 10 a¥ =7 &
6 T ST THOT sk 31 T 3Hequld AT 14 IY qF o1 hr
Y A 4 : 3B A R A AT AT HIfsiv|

Options:

1. v 50 ¥
2. % 44 T§
3. » 54 a¥
4. = 62 TN

Question Number : 103 Question Id : 54592722121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two sums of money in the ratio of 4 : 5 are borrowed for a
period of 5 years. The rate of interest on the two sums are in
the ratio of 4 : 5 and the total simple interest on the two sums
i1s Rs.12300. Find the difference in the simple interest on the
two sums.

Options:

1. » Rs.1500



2. » Rs.3200
3. v Rs.2700
4. » Rs.1800

Question Number : 103 Question Id : 54592722121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4: 5 % 3equd # & YR FT UET 5 Hiel HT AT+ fow
3YR o Sl g1 alel ThAT 9T sl HT 2T 4: 5 & 3feqared A
& 3R 2l TRAT 9T el ATIROT STTeT 12300 F99 §) &
TR ¥ @TYROT 8ITe7 A AL T 9dT o9Ny|

Options:

1. = 1500 &9
2. = 3200 ¥
3. v 2700 &9
4. = 1800 ¥4

Question Number : 104 Question Id : 54592722122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money is invested at 40% p.a. compound interest,
compounded half-yearly. If the amount at the end of one and
half years is Rs.2,16,000, then find the sum ?

Options:

1. » Rs.1,10,000
2. v Rs.1,25,000
3. # Rs.1,50,000
4. » Rs.1,40,000

Question Number : 104 Question 1d : 54592722122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh T T foder 40% Ihgig sOT, Sif &X 6 Aglel H S
AT Torar SRIEM, W fohaT S1ar &1 IS Sg a¥ & 3d H
e ®=F 2,16,000 §, ar T ATT I

Options:

1. = 1,10,000 T
2. v 1,25,000 ¥
3. = 1,50,000 ¥4
4. = 1,40,000 ¥4

Question Number : 105 Question 1d : 54592722123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Suraj borrowed a sum of money from Ajay at a certain rate of
simple interest for two years and lent it to Vinay at same rate
of compound interest compounded yearly for two years. At
the end of two years he received C.I. of Rs.1230 and paid S.I. of
Rs.1200. Find the sum and rate of interest.

Options:

1. v Rs.12000, 5% p.a.
2. » Rs.10000, 5% p.a.
3. = Rs.15000, 8% p.a.
4. = Rs.12000, 8% p.a.

Question Number : 105 Question Id : 54592722123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ST o & a¥ & ol ATUReT sg1e &7 U [dfegd a7 ™
3T @ 49T 3R foram 3T ar a¥ & fv arffe &7 & =@shglg
TSl : SN greamar gaifaa g arar &, fr gae &7 W [eay
ST YN &1l ar a¥ & 37d A 38 Ihgig sare 1230 s
fAeT 3T 1200 99 T TIYROT SFTST T ATl fhaT| SIS
T O 3T T AT IS

Options:

1. v 12000 §R=F, 5% 9ufa a¥
2. = 10000 ¥9=, 5% wfa a¥
3. = 15000 ¥, 8% Wi a¥
4. = 12000 ¥, 8% wia a¥

Question Number : 106 Question Id : 54592722124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In how much time will a car cover a distance of 9000 metre
with a speed of 90 kmph.?

Options:

1. v 0.1 Hour
2. % 0.2 Hour
3. % 0.3 Hour
4. = 0.4 Hour

Question Number : 106 Question 1d : 54592722124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordel AT A T R 90 TorAT ula g Fr a1fa & @rer 9000
AT &7 gfT FI a7 e

Options:

1. v 0.1 T
2. = 0.2 ¢




3. = 0.3 ¢
4. = 0.4 g

Question Number : 107 Question 1d : 54592722125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The speed of a car is 2 times the speed of a passenger train. If
the car travels at the speed of 85 kmph, what will be the
difference in the time taken by the passenger train and the
time taken by the car to cover 935 km.?

Options:

1. = 5 hours
2. v 11 hours
3. = 22 hours
4. = 8 hours

Question Number : 107 Question 1d : 54592722125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk R I AT, Tk THGR geT T A FT 2 e &1 Al R
85 TorAT wfer ©1¢ 1 71fcd & ATAT HTdr § ar 935 foraAT gt =
el H YHS ol 3N R Za@nT folv 30 AT o & T el
frceT &7

Options:

1. = 5 &
2. v 11 1
3. % 22 T
4, = 8 T

Question Number : 108 Question Id : 54592722126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Two cars P and Q start at the same time from A and B which
are 240 km apart. If the two cars travel in opposite directions,
they meet after 2 hours and if they travel in the same
direction (from A towards B) P meets QQ after 8 hours. What is
the speed of the car P?

Options:

1. = 60 km/hr.
2. v 75 km/hr.
3. = 80 km/hr.
4. = 70 km/hr.

Question Number : 108 Question 1d : 54592722126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& FR P 3 Q aF fag3ft shaen A 3 B @ v & @AY
Tordr § otees s $r gt 240 frat. &1 3T @l R TWER
T e & TadT § a7 3 2 =2 g fAed § 3w afg Qe
FRUF G T A ATBHRI ) Tadrg TP, Q& 8 &
g THeldr &, S P &1 aifa a7 §7?

Options:

1. = 60 TeraelEer
2. v 75 TrAEer
3. = 80 Toral/aer
4. = 70 fRANEer

Question Number : 109 Question Id : 54592722127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A finishes a work in 3 days, B finishes the same in 4 days and
C in 5 days. They take turns to finish the work A on the first
day, B on the second and C on the third day and then again A
and so on. On which day will the work get over?

Options:

1. %3
2. % 2
3.%5
4, 4

Question Number : 109 Question Id : 54592722127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Th R FI 3 ToeT H [ AT &, B 38T T 1 4 &7 A
AR C, 5 T & 90 HTam &1 F 91T ST & FH HA g, T8
feeT A, gER f&aT B 3l ot feef C 3K 9o A 3T g 3|
F fohE oot FATST gheT?

Options:

1. = 3
2. % 2
3. » 5
4. v 4

Question Number : 110 Question 1d : 54592722128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A spider climbs 10 metre of a pole in 20 minutes and slips
down 2 metre at the very moment. If it takes 3 hours to climb
on its top find the length of the pole.

Options:

1. v 74 Metre
2. = 72 Metre



3. = 80 Metre
4. = 90 Metre

Question Number : 110 Question Id : 54592722128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush HAhal 20 TAele # U Uidd o 3 10 Hled deh Jdedl &
3T 34T &1 2 AeY A= 37 AT &1 IfE 9 & oY 9T et
H 3 g¢ o & dr 9Tl kT oa1s ATd hil

1. v 74 AT
2. = 72 AT
3. » 80 HIT
4. = 90 AT

Question Number : 111 Question Id : 54592722129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

John can complete a work in 9 days, whereas John and Smith
together can complete the same work in 6 days. How long will
it take for Smith alone to complete the work?

Options:

1. » 15 Days
2. v 18 Days
3. = 54 Days
4. = 36 Days

Question Number : 111 Question 1d : 54592722129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Siiel TRl 1A T 9 TaeT H T T Hehell §, SToTeh A 3T
SiieT ek T fHeRT 6 faaT H &7 FTH T QT FT Fhd g
EH ST 3hel SHTH HT QW el H el GAT of@ram?

Options:




x 15 feat
v 18 faa
x 54 fea
x 36 foat

Question Number : 112 Question 1d : 54592722130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The dimensions of a hall are should it be 150 x 80 x 120 cm.
How many persons can sit in the hall if each person requires
200 cube cm of air?

Options:

1.« 7200
2. % 7150
3. = 7250
4. = 7300

ol

Question Number : 112 Question Id : 54592722130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh &leT ohT 3TATH (IRATOT) 150 x 80 x 120 cm &1 Ife
Ucdeh cdTFd shr 200 Tl AT gar hT 3MTeThar gar &, Trde
=TFd Bl H S Tohd & 7?

Options:

1. v 7200
2. = /1580
3. = 7250
4. = 7300

Question Number : 113 Question 1d : 54592722131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A took 30 s to cross a rectangular field walking diagonally at
the rate of 40 m / min and B took the same time to cross the
same field along its sides walking at the rate of 56 m / min.
The area of the field is:

Options:

1. = 132 metre square
2. % 172 metre square
3. v 192 metre square
4. » 154 metre square

Question Number : 113 Question Id : 54592722131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, TF MTATRR Helel & [Ruia: 40 HAiffA«e &1 Mg 9%
Fla H 30 Q&% ofar &, M B, 56 Ar/fAae Fr afa @ gat &Hr
oIl & Bl STal H 3T &1 AT o1 &1 Helel T &6 ¢

Options:

1. = 132 gat ez
2. % 172 # et AT
3. v 192 #r g9t #deT
4. » 154 gt A

Question Number : 114 Question 1d : 54592722132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of length and breadth of a rectangle is 5 : 2 and the
perimeter is 70 cm. What is the area of the rectangle?

Options:

1. v 250 sq cm
2. % 400 sq cm
3. = 200 sq cm



4. = 150 sq cm

Question Number : 114 Question Id : 54592722132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk I HT oFmTs AT TISTS FT U 5 : 2 § dUr gRfY
70 QAT &1 AT FT &T%6el ohcdall &7

Options:

1. v 250 Tt |
2. = 400 FeT FAT
3. = 200 FaT |AAT
4. = 150 FaT @AY

Question Number : 115 Question Id : 54592722133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTIONS : Shubh and Shaurya are two friends who lives
in a hostel. Shubh gets Rs.5000 as his pocket money per
month and Shaurya gets 6000 as his pocket money per month.
The expenses of Shubh and Shaurya are shown in pie chart.

Expenses of Shubh

saving, 9%
g Room Rent,

18%

Misc, 18%

Mess, 22%

Petrol, 12%

Mobile, 9%
Books, 12%

Expenses of Shaurya

saving, 5%\
=

Room Rent,
21%

Misc, 18%

Petrol, 14% Mess, 23%

Books, 11% Mobile, 8%

What is the difference between expenses made by Shubh and
Shaurya on room rent and mess?

Options:

1. = 784
2. % 586
3. v 640
4. % 720

Question Number : 115 Question Id : 54592722133 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

faicer: <1 3T < oY 21T &, ST Uk SEE™ & &d g qH
I 9fd ATE 3Tl Tiche Hal o ®9 # 5000 & Ao & 3K
o &1 ufd AE dishe Hel & §7 & 6000 &. fAerd & | oo
AR o & TR A god IRG H T AT §

_#m 2%

FAL F frd 3 #AF o ot 3 o FEnr T ae sited
Tl & S fohdeT AT &7

Options:

1. = 784
2. = 586
3. v 640
4. = 720




Question Number : 116 Question 1d : 54592722134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: Study the table carefully and answer the
following questions.

Number of washing machines and refrigerator manufactured
by a company

Year 2005 2006 2007 2008 2009
Washing 14400 | 20500 | 12800 | 16400 18600
Machine

Refrigerator | 12800 | 24700 | 19200 | 20200 14900

Approximately what was the percent decrease in number of
refrigerators manufactured in 2007 from 20067?

Options:

1. v 22
2. % 20
3. % 28
4. % 30

Question Number : 116 Question Id : 54592722134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fader: 9o T e Y forafai@d weal & 3cdd dlioTu-
fordT suar ganT ffda arfeer deier it IheRel 1 a&ar

s 2005 | 2006 | 2007 |2008 | 2009
TRRT Frafer | 14400 | 20500 | 12800 | 16400 | 18600
YReorex | 12800 | 24700 | 19200 | 20200 | 14900

2007 # TOTAT IMhoRedl sl F&AT 2006 # Afdq gear 4@
fordar ufaera s1HE o417

Options:

1. v 22
2. » 26
3. = 28
4. = 30

Question Number : 117 Question 1d : 54592722135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTIONS: The following pie chart shows budgetary
allotments for different categories. Study the graph to answer
the questions that follow.

Budget

12.4%

POthers PDirect Demand MRoad and Raibways  Agriculture  Defence

Items displaying a ratio of nearly 1 : 15 are

Options:

1. = Defence and Direct demand

2. » Roads and railways and defences
3. = Direct demand and others

4. v Direct demand and Defence

Question Number : 117 Question Id : 54592722135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e o a2 T Rfaes At & e s=8T smaes Seiar g1 %
T TS T T4 F e &

aaic

12.4°

Nysr Bymw st Baws wiw Wy Bsm Bow

9 1: 15 @ 3 Fafdd Hie arelr a&gu gl

Options:

1. = T&TT 3 UceT A
2. » @geh 3T Told T TET
3. = UcUsT HET 3N ey
4, v YcT&T AT 3T &

Question Number : 118 Question Id : 54592722136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTION : Study the following graph and answer the given
questions.

] Amount (Rs. in lakhs) invested in raw materials,

] value (Rs. in lakhs) of sales of finished goods

600
52
| =00 460
| 37 400 420
i 33
. s00 22
1 12'
1996 1998 1999 2000

1995 1997

g 2

=

Rx.in lakhs
o888

Year

In 1996, what percent increase in the amount invested in
finished materials as compared to the previous year?

Options:

1. v 87.50 percent
2. » 30 percent

3. %= 62.50 percent
4. = 82.50 percent

Question Number : 118 Question Id : 54592722136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



foder : FIToEd ATH I TgHT 3cal o

B oo 5 e 15 o (e saw

| TTRD U G S SUIY

fit e 500
6500 - 500 52
—— 460
375 400 420
400 300 23
5 300 500 235
E 200 {1 12
"o ﬂ
D -
19495 1995 1997 19498 1999 2000
a9

1996 # @ T@el a¥ HT Jelell A RN AT W RT3 foader
A Frcelr ufaera gia &357

Options:

1. v 87.50 ufcrerd
2. % 50 fcrerd

3. = 62.50 wfcerd
4. % 82.50 wfcerd

Question Number : 119 Question Id : 54592722137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Directions: The following questions are to be answered on the
bhasis of sales turnover bar-chart for the years 1990 to 1995
given below:

Sales in Thousands of Rupees

500

400
300 -
200 -
100
0 - T T T T T
1990 199 1992 1993 1994 1995

By what amount are the sales in 1995 more than those in
19917

Options:

1. = Rs. one hundred
2. = Rs. ten thousand
3. v Rs. one lakh
4. » Rs. ten lakh

Question Number : 119 Question Id : 54592722137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



facer: Ao wedl & 3ca<, 1990 & 1995 & & f&v v
fSshr Ta3iay FR-9C & 3R W Biew]

e goRT F9UT #

500

400

300 -~
200 -
100 -+

0 - T T T T T
1990 1991 19492 19493 1994 19495

19971 Eﬁrgﬂmﬁﬁﬁr, 1995 & Tohdall smarT o4r?

Options:

1. % Ueh & T

2. * ¥ ol &9
3. v Ueh oTT ®9
4, = T G T

Question Number : 120 Question Id : 54592722138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTIONS: following graph shows the number of Bata and
Woodland shops in 5 cities of India.

190
180 TRO
175 2 5
160 -
150 150

140 \\{iﬁ\\ \1 139
130

120 a2
110 1“-‘\\ 111
T T T T

100

166

Bata Woodland

What is the average number of Bata shops in all 5 cities
together?

Options:

1. v 142
2. % 135
3. = 161
4. % 137

Question Number : 120 Question 1d : 54592722138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forder: fooar 3 9RT & o= e, d1eT 3N gsols et &

TEAT I 21T &l
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180 180
170 /\.H
160 -
150 155

166

140

130

120
110

100
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mﬁSe@ﬁwwma&rWﬁmﬁmﬁﬂ?ﬁ
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Options:

1. v 142
2. » 135
3. = 161
4. = 137

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:
IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

General English1

7
5459271097
0

0

No

No

0

20

No

Yes



Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 5459271097

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271315
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592722139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Eyebrow movement playing a major role in human
communication.

Options:

1. = Eyebrow movement

2. v playing

3. » a major role

4. = human communication

Question Number : 121 Question Id : 54592722139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

Eyebrow movement playing a major role in human
communication.
Options:

1. = Eyebrow movement
2. v playing
3. * a major role

4. * human communication

Question Number : 122 Question Id : 54592722140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

A number of worldwide shark attacks has grown at a steady

pace since 1900.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. A number of
2. worldwide
3. has grown
4. since 1900

Question Number : 122 Question 1d : 54592722140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

A number of worldwide shark attacks has grown at a

steady pace since 1900.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. A number of
2. worldwide

3. has grown

4. since 1900

Question Number : 123 Question Id : 54592722141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

If we doesn’t plant trees, there may be nothing left for our
children.

Options:

1. = If we

2. v doesn’t plant
3. = nothing

4. = our children

Question Number : 123 Question 1d : 54592722141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

If we doesn’t plant trees, there may be nothing left for our

children.

Options:

1. = If we

2. v doesn’t plant
3. ® nothing

4. = our children

Question Number : 124 Question Id : 54592722142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

In total, there were around six orcas spread off in groups of
two or three

Options:

1. = In total

2. » were around
3. v spread off

4. = two or three

Question Number : 124 Question Id : 54592722142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

In total, there were around six orcas spread off in groups of

two or three

Options:

1. = In total

2. *= were around
3. v spread off
4. = two or three

Question Number : 125 Question Id : 54592722143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

|dentify the segment in the sentence which contains the

grammatical error from the given options.

Though leopards look fearsome, they avoid humans and can

be tricky to spotting

Options:

1. = Though

2. = |look fearsome
3. = they avoid

4, v to spotting

Question Number : 125 Question Id : 54592722143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Identify the segment in the sentence which contains the
grammatical error from the given options.

Though leopards look fearsome, they avoid humans and can
be tricky to spotting

Options:

1. = Though

2. » look fearsome
3. = they avolid

4. v 1o spotting

Question Number : 126 Question 1d : 54592722144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

The Samoan islands are fast sinking than expected due to
global warming.

Options:

1. v are sinking faster

2. = 18 sinking fast
3. » are fast sink
4. = No substitution required

Question Number : 126 Question Id : 54592722144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

The Samoan islands are fast sinking than expected due to

global warming.

Options:

1. v are sinking faster
2. ® 18 sinking fast

3. = are fast sink
4.

* No substitution required

Question Number : 127 Question 1d : 54592722145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, elect option No substitution required.

Somehow, the sea turtles has survive the ice ages and the
extinction event.

Options:

1. = have survive

2. v have survived
3. * had been survive
4. = No substitution required

Question Number : 127 Question Id : 54592722145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, elect option No substitution required.

Somehow, the sea turtles has survive the ice ages and the

extinction event.

Options:

1. = have survive

2. v have survived

3. * had been survive
4.

* No substitution required

Question Number : 128 Question 1d : 54592722146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, elect option No substitution required.

The total number of plastic toothbrushes being produce, used,

and throw away each year has grown steadily.

Options:

1. = being produce, use ,and throw

2. = been produced, used, and throw
3. v being produced, used, and thrown
4. = No substitution required

Question Number : 128 Question Id : 54592722146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, elect option No substitution required.

The total number of plastic toothbrushes being produce,

used, and throw away each year has grown steadily.

Options:

1. = being produce, use ,and throw

2. » been produced, used, and throw
3. v being produced, used, and thrown

4, = No substitution required

Question Number : 129 Question 1d : 54592722147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, elect option No substitution required.

Hyenas might have a bad reputation, but they are one of
Africa’s most successful predators.

Options:

1. = more successful predators

2. » much successful predator
3. » most successful predator
4. v No substitution required

Question Number : 129 Question Id : 54592722147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, elect option No substitution required.

Hyenas might have a bad reputation, but they are one of

Africa's most successful predators.

Options:

1. * more successful predators
2. *» much successful predator
3. = most successful predator

4. v No substitution required

Question Number : 130 Question 1d : 54592722148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, elect option No substitution required.

Encounters with the big fish are rare, but it can be deadly.

Options:

1. v but they can be

2. = as they are
3. = but it can’t be
4. = No substitution required

Question Number : 130 Question Id : 54592722148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, elect option No substitution required.

Encounters with the big fish are rare, but it can be deadly.

Options:

1. v but they can be
2. % as they are
3. ® but It cant be

4. = No substitution required

Question Number : 131 Question Id : 54592722149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Every few yards, he digs a shallow hole in the rich, red soil
and the leafy sapling of an ebony tree.

Options:

1. v plants
2. % stocks
3. = establish
4. = introduce

Question Number : 131 Question Id : 54592722149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Every few vyards, he digs a shallow hole in the rich, red

soll and the leafy sapling of an ebony tree.

Options:

1. v plants
2. = stocks
3. = establish
4. = Introduce

Question Number : 132 Question Id : 54592722150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Tiger and bull sharks are two species often found
coast and are known to bite people.

Options:

1. % in

2. v along
3. ® across
4. = aboard

Question Number : 132 Question Id : 54592722150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Tiger and bull sharks are two species often found

the

the coast and are known to bite people.

Options:



1. = In
2. v along
3. ® across
4. = aboard

Question Number : 133 Question Id : 54592722151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Photographers have been to take iconic pictures of the
world’s highest mountain, the Mount Everest.
Options:

1. = thrusting
2. = defeating
3. v striving
4. = pushing

Question Number : 133 Question Id : 54592722151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Photographers have been to take iconic pictures of

the world’s highest mountain, the Mount Everest.

Options:

1. = thrusting
2. » defeating
3. ¢ striving
4, = pushing



Question Number : 134 Question 1d : 54592722152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

A study has found that dogs are uniquely skilled

understanding gestures.
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. of
2. 1n
3. off
4. at

Question Number : 134 Question Id : 54592722152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

A study has found that dogs are uniquely skilled

understanding gestures.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. of
2. 1n
3. off
4. at

Question Number : 135 Question Id : 54592722153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

Lord Brummell became a symbol of a new masculine style,
one that still the way people dress today.

Options:

1. v dictates
2. = predict
3. = observes
4, = assigns

Question Number : 135 Question Id : 54592722153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Lord Brummell became a symbol of a new masculine style,

one that still the way people dress today.

Options:

1. v dictates

2. = predict
3. * observes
4. = assigns

Question Number : 136 Question Id : 54592722154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

A tiny, old star, just 12 light-years away might two
rocky planets, astronomers and a new study has found.

Options:

1. = supply



2. v host
3. = cluster
4. = parade

Question Number : 136 Question Id : 54592722154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

A tiny, old star, just 12 light-years away might two
rocky planets, astronomers and a new study has found.
Options:

1. = supply

2. ¢ host

3. % cluster

4. = parade

Question Number : 137 Question Id : 54592722155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Images in the media can shape how people see each other,
to bias and consequences that impact us all.

Options:

1. = lead

2. » leads
3. v leading
4. = led

Question Number : 137 Question Id : 54592722155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Images In the media can shape how people see each other,

to bias and consequences that impact us all.

Options:

1. = lead
2. % |eads
3. v leading
4. = led

Question Number : 138 Question Id : 54592722156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

No matter where you go and what type of safari you
timing is the key.

Options:

1. = choosing

2. = chosen
3. » chose
4. v choose

Question Number : 138 Question Id : 54592722156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

No matter where you go and what type of safari you

, timing 1s the key.

Options:



1. = choosing
2. *= chosen
3. ® chose

4. v choose

Question Number : 139 Question Id : 54592722157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: We have hunted them, snagged them, hit them with ships,
and choked them with plastic bags.

B: The risks facing the seventh, Australia’s flat back, are less
clear.

C: And yet, somehow, these creatures survived ice ages and
the extinction event that wiped out the dinosaurs.

D: As the world struggles with diversity loss, six of world’s
seven species of sea turtles are considered threatened or
endangered.

Options:

1. v ADBC
2. » ABCD
3. = DBCA
4. = ACBD

Question Number : 139 Question Id : 54592722157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: We have hunted them, snagged them, hit them with
ships, and choked them with plastic bags.

B: The risks facing the seventh, Australia's flat back, are

less clear.

C: And yet, somehow, these creatures survived ice ages

and the extinction event that wiped out the dinosaurs.

D: As the world struggles with diversity loss, six of world’s
seven specles of sea turtles are considered threatened or

endangered.

Options:

1. v ADBC
2. = ABCD
3. = DBCA
4. = ACBD

Question Number : 140 Question Id : 54592722158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has four parts, rearrange the given parts so as to
form a meaningful sentence.

A: A day to celebrate all fathers
B: what began as one woman’s
C: tribute to her dad, turned

D: into a life-long mission for

Options:

1. = ABCD
2. v BCDA
3. = BDCA
4. = ADBC

Question Number : 140 Question Id : 54592722158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: A day to celebrate all fathers
B: what began as one woman’s
C: tribute to her dad, turned

D: into a life-long mission for

Options:

1. = ABCD
2. v BCDA
3. = BDCA
4. = ADBC
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Question Number : 141 Question Id : 54592722159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: At first, years ago, it was just an occasional piece of plastic
trash that Kahi picked up on the beach cleanups.

B: But one day Kahi spotted something particularly surprising
in the beach cleanup: a toothbrush.

C: A straw here, a takeout container there.

D: Now, In any given Hawail beach cleanup, he says, it’s not
uncommon to pick up 20 or even 100 toothbrushes.

Options:

1. « ABCD
2. » CBAD
3.v ACBD
4. = CDBA

Question Number : 141 Question Id : 54592722159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: At first, years ago, it was Just an occasional piece of

plastic trash that Kahi picked up on the beach cleanups.

B: But one day Kahi spotted something particularly

surprising in the beach cleanup: a toothbrush.

C: A straw here, a takeout container there.

D: Now, In any given Hawail beach cleanup, he says, it's

not uncommon to pick up 20 or even 100 toothbrushes.

Options:

1. = ABCD
2. = CBAD
3. v ACBD
4. = CDBA

Question Number : 142 Question Id : 54592722160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the synonym of the given word.

Impolite

Options:

1. ¥ Rude
2. « Fair



3. » Reasonable
4. = Humane

Question Number : 142 Question Id : 54592722160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Impolite

Options:

1. v Rude
2. % Fair
3. = Reasonable

4. * Humane

Question Number : 143 Question Id : 54592722161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Boost

Options:

1. = Increase
2. v Decline

3. = Memorize
4. » Exclude

Question Number : 143 Question 1d : 54592722161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Boost



Options:

1. # |ncrease
2. v Decline

3. * Memorize

4. = Exclude

Question Number : 144 Question Id : 54592722162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Remorse

Options:

1. » Pleasure
2. » Decency

3. v Regret

4. = Confidence

Question Number : 144 Question Id : 54592722162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Remorse

Options:

1. = Pleasure
2. » Decency
3. v Regret

4. = Confidence

Question Number : 145 Question Id : 54592722163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the antonym of the given word.

Imprison

Options:

1. v Release
2. = Enslave
3. = Occupy
4. = Compensate

Question Number : 145 Question Id : 54592722163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Imprison

Options:

1. v Release
2. = Enslave
3. = Occupy
4. = Compensate

Question Number : 146 Question Id : 54592722164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Bizarre

Options:

1. = Similar
2. v UUnusual
3. *» Ordinary



4, = Dependable

Question Number : 146 Question Id : 54592722164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Bizarre

Options:

1. = Similar

2. v Unusual

3. = Ordinary

4, = Dependable

Question Number : 147 Question 1d : 54592722165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Impateint
2. = Thoroughly
3. » Fortunate
4. = Particular

Question Number : 147 Question Id : 54592722165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Impateint
2. » Thoroughly
3. = Fortunate



4. = Particular

Question Number : 148 Question Id : 54592722166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Speclally

2. v Expecially

3. » Specialist

4. = Specialization

Question Number : 148 Question Id : 54592722166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:
1. = Specially
2. v Expecially

3. = Specialist
4. = Specialization

Question Number : 149 Question Id : 54592722167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. » Summarize
2. » Inhuman

3. v Rediculous
4. = Receptionist

Question Number : 149 Question Id : 54592722167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.



Options:

1. = Summarize
2. % |Inhuman

3. v Rediculous
4, = Receptionist

Question Number : 150 Question Id : 54592722168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A square deal

Options:

1. v A fair and honest transaction
2. = A false arrangement

3. » A reasonable argument

4. = Improper Conduct

Question Number : 150 Question Id : 54592722168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A square deal

Options:

1. v A fair and honest transaction
2. » A false arrangement
3. ® A reasonable argument

4. = Improper Conduct

Question Number : 151 Question Id : 54592722169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

In Black and White

Options:

1. = In a copy of two

2. v Written down or in print
3. » Lacking imagination

4. = In a verbal communication

Question Number : 151 Question Id : 54592722169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

In Black and White

Options:

1. = In a copy of two

2. v Written down or in print
3. = Lacking imagination

4. = In a verbal communication

Question Number : 152 Question Id : 54592722170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A white elephant

Options:

1. = A rare sight
2. = A reasonable purchase
3. v An expensive item that is troublesome or useless



4, = A thing considered to be precious

Question Number : 152 Question Id : 54592722170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

A white elephant

Options:

1. = A rare sight
2. = A reasonable purchase
3. v An expensive item that is troublesome or useless

4, = A thing considered to be precious

Question Number : 153 Question 1d : 54592722171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A room or building in which dead bodies are kept

Options:

1. v Mortuary

2. = Obltuary

3. » Postmortem
4. = Funeral

Question Number : 153 Question 1d : 54592722171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

A room or building in which dead bodies are kept

Options:

1. v Mortuary

2. = QObituary

3. # Postmortem
4.

% Funeral

Question Number : 154 Question Id : 54592722172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

Extreme or irrational fear of the night or of darkness.

Options:

1. = Acrophobia

2. v Nyctophobia
3. » Chronophobia
4. = Hydrophobia

Question Number : 154 Question Id : 54592722172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

Extreme or irrational fear of the night or of darkness.

Options:



1. = Acrophobia
2. v Nyctophobia
3. = Chronophobia
4. = Hydrophobia

Question Number : 155 Question Id : 54592722173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

An independent person or body officially appointed to settle a
dispute.

Options:

1. = Referee

2. = Curator

3. v Arbitrator
4. = Amateur

Question Number : 155 Question Id : 54592722173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

An Independent person or body officially appointed to settle

a dispute.

Options:

1. = Referee

2. % Curator



3. v Arbitrator

4. = Amateur

Sub-Section Number: 2
Sub-Section 1d: 5459271317
Question Shuffling Allowed : Yes

Question Id : 54592722174 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Answer the questions based on the following passage.

Global warming is the slow increase in the average
temperature of the earth’s atmosphere because an increased
amount of the energy (heat) striking the earth from the sun is
being trapped in the atmosphere and not radiated out into
space.

The earth’s atmosphere has always acted like a greenhouse to
capture the sun’s heat, ensuring that the earth has enjoyed
temperatures that permitted the emergence of life forms as
we know them, including humans.

Without our atmospheric greenhouse the earth would be very
cold. Global warming, however, is the equivalent of a
greenhouse with high efficiency reflective glass installed the
wrong way around.

Ironically, the best evidence of this may come from a terrible
cooling event that took place some 1,500 years ago. Two
massive volcanic eruptions, one year after another placed so
much black dust into the upper atmosphere that little
sunlight could penetrate. Temperatures plummeted. Crops
failed. People died of starvation and the Black Death started
its march. As the dust slowly fell to earth, the sun was again
able to warn the world and life returned to normal.

Today, we have the opposite problem. Today, the problem is
not that too little sun warmth is reaching the earth, but that
too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that the
temperature of the earth is going up faster than at any
previous time in history. NASA provides an excellent course
module on the science of global warming.



Sub questions

Question Number : 156 Question Id : 54592722175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a suitable title for the given passage.

Options:

1. v Understanding Global Warming
2. = Climate change and its impact
3. * The greenhouse gases

4. = The Earth’s Atmosphere

Question Number : 157 Question Id : 54592722176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage describes ‘opposite problem’ as one of the
following:

Options:

1. = Too little sun warmth is reaching the earth

2. v The fact that too much sun warmth is being trapped In
earth’s atmosphere

3. » Temperature of the earth is low
4. = The earth’s atmosphere is stable.

Question Number : 158 Question Id : 54592722177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage is most likely to be taken from:

Options:

1. = A newspaper

2. = A research publication
3. v A science Journal

4. = A weekly magazine

Question Number : 159 Question Id : 54592722178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the given options, choose the one that is most similar to
the word ‘Radiated’ as used in the passage.

Options:

1. = Propagate
2. = Circulate
3. = Broadcast
4. v Reflected

Question Number : 160 Question Id : 54592722179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given passage, the earth’s atmosphere 1s being
compared to:

Options:

1. v A greenhouse

2. = A cooling agent

3. » Volcanic eruptions
4. = Black Dust

Question Id : 54592722174 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Answer the questions based on the following passage.

Global warming is the slow increase In the average
temperature of the earth’s atmosphere because an increased
amount of the energy (heat) striking the earth from the sun
Is being trapped Iin the atmosphere and not radiated out into
space.

The earth’s atmosphere has always acted like a greenhouse
to capture the sun’s heat, ensuring that the earth has
enjoyed temperatures that permitted the emergence of life
forms as we know them, including humans.

Without our atmospheric greenhouse the earth would be
very cold. Global warming, however, Is the equivalent of a
greenhouse with high efficiency reflective glass installed the
wrong way around.

Ironically, the best evidence of this may come from a
terrible cooling event that took place some 1,500 years ago.
Two massive volcanic eruptions, one year after another
placed so much black dust into the upper atmosphere that
little sunlight could penetrate. Temperatures plummeted.
Crops failed. People died of starvation and the Black Death
started its march. As the dust slowly fell to earth, the sun
was again able to warn the world and life returned to
normal.

Today, we have the opposite problem. Today, the problem
Is not that too little sun warmth is reaching the earth, but
that too much is being trapped in our atmosphere.

So much heat is being kept inside greenhouse earth that
the temperature of the earth is going up faster than at any
previous time in history. NASA provides an excellent course

module on the science of global warming.



Sub questions

Question Number : 156 Question Id : 54592722175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a suitable title for the given passage.

Options:

1. v Understanding Global Warming
2. » Climate change and its impact
3. * The greenhouse gases

4. = The Earth’s Atmosphere

Question Number : 157 Question Id : 54592722176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage describes ‘opposite problem’ as one of the

following:

Options:

1. = Too little sun warmth Is reaching the earth

2. v The fact that too much sun warmth is being trapped In

earth’s atmosphere
3. = Temperature of the earth Is low

4, = The earth’s atmosphere Is stable.

Question Number : 158 Question Id : 54592722177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage Is most likely to be taken from:

Options:

1. = A newspaper
2. » A research publication

3. v A science Journal



4. = A weekly magazine

Question Number : 159 Question Id : 54592722178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given options, choose the one that is most similar

to the word ‘Radiated’ as used in the passage.

Options:

1. = Propagate
2. = Circulate

3. * Broadcast

4. v Reflected

Question Number : 160 Question Id : 54592722179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given passage, the earth’s atmosphere I1s being

compared to:

Options:

1. v A greenhouse
2. » A cooling agent
3. ®= Volcanic eruptions

4. = Black Dust
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Question Number : 161 Question Id : 54592722180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT # 9 "hegl” Thd e T 9o g2

Options:

Question Number : 161 Question Id : 54592722180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ffaEa & ¥ 'Fassr g gof o1 o= &7

Options:

1. = dcHH

2. « dgd

3. v ot

4. = Tagefr

Question Number : 162 Question Id : 54592722181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ST e § UqaY 3l

Options:

1.%%
2. % T
3. v G
4. % 3N

Question Number : 162 Question Id : 54592722181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STATERY ersg # UcdT &1

Options:

1. =

5
2. % T
3. v IHT
4. = 3NT

Question Number : 163 Question 1d : 54592722182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GTANT H -4 ai g2
1. * o &=

2. v IS Gy

3. » Tagi 9

4, » TUT gi+g

Question Number : 163 Question Id : 54592722182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"He AT H hled-@7 e §7?

Options:

1. » T Hied
2. v ol gleer



3. = To@s gy
4. = IOT Hiey

Question Number : 164 Question 1d : 54592722183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ta4T Sre[c; # QAT 2

Options:

1. » &g U

2. % AT Wi THTH
3. v T

4, » HHYRY FATE

Question Number : 164 Question 1d : 54592722183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faem eeg # @A™ &

Options:

1. » ddeq HHTY

2. % 3RT AT TAT
3. v Teae @A
4. » FAIRIT TATH

Question Number : 165 Question Id : 54592722184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

& T 8l
Options:

1. v SATddT=IR <1

2. % HIadT<Ih <1

3. * HgaTI® AT

4. * EIATIH G

Question Number : 165 Question Id : 54592722184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&Y AT E
Options:

1. v SfaarRes 41

« TIdIIR Tl

2.
3. = HHgATah Hal
4. = gegdrdesr gl

Question Number : 166 Question 1d : 54592722185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel T § & Thd STe[c; T 319 U’ 872

1. = 3TeTlichen

2. % GET,
3. ® 3MHT

4, v AT

Question Number : 166 Question 1d : 54592722185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o @d # & hg g &7 37T '9F7' §7

Options:

1. = 37cllfeheh
2.

3. % 3R
4. v 31T

e

Question Number : 167 Question Id : 54592722186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WiTd™ ere(e T AT 31 g2

Options:

1. = HiTaa
2. v BT




3. % &4
4. * M3T

Question Number : 167 Question 1d : 54592722186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT ersg T FAT HT &7

Options:

1. = #fIfadr

2. v 3%
3. % AR
4. = o=t

Question Number : 168 Question Id : 54592722187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATel T # 9 U T Tgigerat Tg1 g?

Options:

1. » gyt
2. % qraT
3. » TIguI
4. v I

Question Number : 168 Question Id : 54592722187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao &d # & 'Ocal’ T JATIART Aol &7

Options:

1. = ggafaoT
2.
3. = GO
4,

Question Number : 169 Question 1d : 54592722188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



I T Tl 9E &7

Options:
1. = ddTdhel
2. v gidduel
3. * 3ot
4. % Pl

Question Number : 169 Question Id : 54592722188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3falshel T fdeld ersg &7

Options:

1. = cTehol
2. v Yldhel
3. ® 3MTehel
4.

Question Number : 170 Question 1d : 54592722189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T e[e, Y Xepd GITT &l I iyl

G| (31T & W) oIg AT AT Tl

Options:

1. » GABY
2. v 7Y

3. * yiIge
4. = 3[TG- A=

Question Number : 170 Question 1d : 54592722189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3RIT oeg Ty N TATT T Yt HITIT

Ha (1@ & TTHA) 98 HAATeleh €2 AT

Options:

1. = GHDET

2. v UcdeT
3. = ylagfee
4. = 3E- GTHA

Question Number : 171 Question Id : 54592722190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATel G IR Terehelyl # & (Sifel) LGS, AT AIT Bel

Options:

1. = Tage
2. % I

3. % g9Ig
4, v ¢Ad

Question Number : 171 Question Id : 54592722190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafolEa IR [ahedl & & (SAd) ¢eg T TIeT L

Options:

1. = Tdgre
2. » AN

3. *» gog

e

4, v Slad

Question Number : 172 Question Id : 54592722191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

' T Telelid SI9E 3

Options:



1. » Sitdd
2. % JTEST
3. v didTel
4, % 9

Question Number : 172 Question Id : 54592722191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Her' T faolA osg &

Options:

1. = Siad
2. % 3T&eM
3. v dITe
4, = 7

Question Number : 173 Question Id : 54592722192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST § hIF-HT A DTy DT T geTell Tg1 g7
Options:

L. = aqa

2. % A

3. % gauy

4. ¢ W

Question Number : 173 Question Id : 54592722192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH & HiT-AT ¢6c 'TFaleh T TATIAT T8l &7

Options:

1.%%1?13'[

2. = hdddl
3. % TGUOT



4. v vga

Question Number : 174 Question Id : 54592722193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

STSeTTY’ T AT 37 3
Options:

1. = U i 3mT

2. # STl dr 3T
3. v QYS dY AT
4, = WgeT P AT

Question Number : 174 Question Id : 54592722193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATSTTEeT hT FIAT T &

Options:

1. = 9 T 37T

2. % ST3Tel shTl 34T
S.J@aﬁrm
4, % HEel hl 34T

Question Number : 175 Question 1d : 54592722194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel T # & DI-9T Teh A FHTYT g7

Options:

1. v TqUR-UTgTor
2. % ArA-Ieayg
3. * T[T

4. » ggich-GHTS

Question Number : 175 Question 1d : 54592722194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farali@a & & HiT-87 v 77 FATATL 87

Options:




1. v Tcd-9ryTo7
2. » UHA-Tgag

3. = oH-I[%
2 D

4. » TFd-HTS

Question Number : 176 Question 1d : 54592722195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ATl # ¥ lN-9T SIS, Teh Jiooill g2

Options:

1. v pUST

Question Number : 176 Question Id : 54592722195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d A | Fia-a1 2rsg Tk Yleodr &7

Options:

1. v sh9sT
2. % glfal
3. = adr
4. = IOT

Question Number : 177 Question Id : 54592722196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATCl T # 4 Tehd re(c; T WA G Yeheror H BIdT 87

Options:

1. = 70T
2. % T
3. v ST




4, * A

Question Number : 177 Question 1d : 54592722196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@aT & O rg o T W97 9T Tehadd H BldT &7

Options:

1. = HTOT
2. = gefel
3. v SlddT
4. = 3

Question Number : 178 Question Id : 54592722197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JHETY DD & DG 8.
NN N

Options:

1. =, T

2. % @, TelT

Question Number : 178 Question Id : 54592722197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Treed e T "es &

Options:

1. » A, W
2. = &, fow
3.« 0, 8T, T
4, » &

Question Number : 179 Question Id : 54592722198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gHTH & 9T &




Options:

1. v 9g:
2. % U
3. % QI
4, % TS

Question Number : 179 Question Id : 54592722198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TdaTH & 3G &

‘Ip.wE%':
2. = 9
3. = dral
4, = S

Question Number : 180 Question 1d : 54592722199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST TErQraur fehdiT eI chl HTAT, G, ATUTol T STeT hild g I+g hgl ST
a:

Options:

1. = FEATHS [T

2. % TUTeITRIh Tarergur
3. v URHTUTETS [T

4. » GEgrarad oLy

Question Number : 180 Question Id : 54592722199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i faelor foRelT & T AT, Isfel, ATdclel T sl T &

3og hal oIdT &

Options:

1. = TIITTHS [FATOT




2. = JUTATH EretyoT
3. v UNHATOER QLT
4. » EITARR Tgersor

General Hindi2

Group Number : 10
Group Id : 5459271100
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi?2

Section Id : 5459271100

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section I d: 5459271319
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592722200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T, W, &, W, § Bl IR g

Options:

1. = @3
2. v S

3. e




4. % ad

Question Number : 181 Question 1d : 54592722200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g, %, &, H, d &I 3T9ROT &

Options:

1. * &6
2. v IsE
3. = e
4. = g

Question Number : 182 Question Id : 54592722201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST ST3THT eIT Il g eTehd 38 Tchdl WenTd T g2

Options:

1. » %1 dTpd

2. * GFPd a1

3. v A9 a1

4, » Ygarad arag

Question Number : 182 Question Id : 54592722201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST 13T I9T FIeel g aad SAH b TR HT &7

Options:

1. = Il AT

2. % chrd GIER)
3. v T®ET g
4.

x FSEATdh dTF

Question Number : 183 Question Id : 54592722202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FETARET & & B-9T g aTHhd 32



Options:

1. » FAUTT & PoTUid TG Teh 3|
2. v GUTA & PoTyid gl

3. * WHId ag Poruid g qeb gl
4. » GHUTT o Poryid g b gl

Question Number : 183 Question Id : 54592722202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d & & FiT-37 g a+g &7

Options:

1. = m:;r%a‘iwmq'i?i TE I+ ¢l
2.@wq1%’ra‘g«—c»rcr%%|
3. = T dg iwolLlﬂ:l I T &

s

4., « g ar ?I;MLIT;I I& Iqh &

-

Question Number : 184 Question 1d : 54592722203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & & Par g a1 37

Options:

1. % Sths[el A Silell
2. % SOel T STell
3. v el Hd STell
4. % Tfel diell

Question Number : 184 Question 1d : 54592722203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafaiEd A & Fi-37 g aFT &7

Options:

1. % Stholel A Srell
2. « SWolel o el
3. v ool A STl




4. = Wolel STell

Question Number : 185 Question Id : 54592722204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT G # & '@uT T Sgeree €U BT gIT g2

Options:

1. = @uralt
2. v Ul

3. ® UTT
4. » Ppddr

Question Number : 185 Question Id : 54592722204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fetfel™@T # & 'Far = SEadel T 1 giar g7

Options:

1. = FoTaft

2. v Ul
3. * FUC
4. = FdaA

Question Number : 186 Question 1d : 54592722205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAAT T § ¥ "Dl AT dgea< € HAT gl g2
Options:

1. * @ITel
2. % BT
3. = dIgell
4, v BT

Question Number : 186 Question 1d : 54592722205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed H & 'ITeT &I SREECIESIE S BT &7

Options:




Question Number : 187 Question 1d : 54592722206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T gl ST g g2 37 BT 28 F [ohdr T T g g2

Options:

1. » Yg arad
2. v ULAICTASh
3. * SBIATeID

4. = TATgara®

Question Number : 187 Question Id : 54592722206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Fal ST @ 87 3T T Tee 8 v ThR T Ty &7

Options:

1. = Hg ardeh

2. v URedrdeh

3. * ZTBASh

4. « Arares

Question Number : 188 Question Id : 54592722207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"3ITEIT TI-3TUT §I¢T ellehlTch DT 31 HaT 2

Options:

1. v ST Hel
2. % QT | MW AT
3. * YIS gl Ll




4. % 3eTI-3MelIT Tl

Question Number : 188 Question 1d : 54592722207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'ITAT JTAL-3TT §¢T ollehlTehd ohT 3727 T &7

Options:

1. v ST Ad

2. = QMEr H eiHer BT
3. % #HIS Tohgl hidl

4. = 3TeldT-3eldT 1G]

Question Number : 189 Question Id : 54592722208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'Jeld A FLoAT DI’ ellenlTch ol 31 AT 872
Options:

1. = 37UAT P1d P

2. v TOUdd BT Tl
3. % 3MUAT B TEL F HLATT
4. = TCET g

Question Number : 189 Question Id : 54592722208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'Sed ST SXolT I olleplfehd R 32T T §7

Options:

1. % 379l FTT FIaT
2. v 9T ST FLT
3. % 3MUeT FT GE & FIGrel

4. = IEAT Bl
o

Question Number : 190 Question Id : 54592722209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Gl =T {TaR T 372 T g7




Options:

1. * ST ARAT
2. % ATeTeTaT
3. * Sloald gl
4, v &S ST

Question Number : 190 Question Id : 54592722209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Fellall' FETEAY T 3T AT &7

Options:

1. % BIaT AT

2. % TTeleTel
3. = WATeold AT

4, v & ATl

Question Number : 191 Question 1d : 54592722210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0 12 BT TR ard AT 22

Options:

1. « A& A8 ST
2. * g @G

3. v Gd olTH YT Bl
4. % I HT YOI ST

Question Number : 191 Question 1d : 54592722210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Al SE BT HEaY T AT FAT 87

Options:

1. = QT Tl BTl
2. % ag?raigma’l?n
3. ¢ & ol YTt ]




4. » FT T AT ATl

Question Number : 192 Question Id : 54592722211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

STH U 31 TeTH hIF-4T K g 8?

Options:

1. =,
2. % |
3. %
4, v

Question Number : 192 Question Id : 54592722211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I ¥ 3ERAUH Sla-ar Reg &7

Options:

1. = |

2.
3. %
4,

Question Number : 193 Question Id : 54592722212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STeT TehdT ST T 3ol SQITHT gl T agl T TANT ThdT ATaT &l

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. quf ferm Toieg/ 3Iu feeH fog
2. U Tog
3. qut e

4. 3T T g

Question Number : 193 Question 1d : 54592722212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ST FRAY ersg Y 37el9T ERITeIT &r ar ggr T TR=AET
rar STaT &

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. o7 oA RIeg/ 39 oA eg
2. vedT Reg
3. quT faurA

4. FTAOT s

Question Number : 194 Question Id : 54592722213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gy, TauTe, TagHd, Heu, EUIT, GHETE, Foad e & a1 TgHd giv
eTelT TR TeIvg dgelTdT &

Options:

1. » JISTeh T g
2. % YT ToIg

3. v TIqAATICETD K g

4, * I T g

Question Number : 194 Question Id : 54592722213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gy, fauTe, foFAw, +%om, gom, gFerdd, oo el & g1
UG gl dTell fauA Reg shgarrar &:

Options:

1. = Tl eog
2. = gedreh <eg
3. v Rraofearas eg

4. » 30T RIed

Question Number : 195 Question 1d : 54592722214 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

ZH 4 g9 U PI-9T g7
Options:
1.+ 4

2 % LA L)
3 Q r oIr 1t
4, X

Question Number : 195 Question Id : 54592722214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SoId O 9 UE hla-OT &7

Options:

1. ¢ 7

2
3. 5 m m n
4

. ® X

Sub-Section Number : 2
Sub-Section 1d: 5459271320
Question Shuffling Allowed : Yes

Question Id : 54592722215 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

(Question Label : Comprehension



T RIS T T g1 ITRITSr & SR U= Ut Wef 10U M 31 TRIisr &
ETYCin g T4T Ucdd UF § IR [dchodl # & Tgl fdlhot g

‘O’ JTELT ST &7 Hol H gl GA SRIU-FHIT ERT WU - ATl § 9
h A Tl GeTenTd [haT gl gweitel HEITEY T 3 qUi-Bic-9-8i¢ drd
T ST T 2T gl B D YIRY T oI 31T ad AT A R TRYT o
gl 37U+ TerenTd &7 U WG ThdlT g1 3T §UR H ST §9 HI 1¢@TS ¢ @ 8,
oIg GAd UIYH DT el gl G & [Sq | I 3T THLATedT &2 5, I
HeIch UTS UIXHH @l gl 3T g1 T¢di Tarefer Zug 7 SITUT @l o THIT dgd-
g9 O [T AT 3G & I e TR TGATIAT 3N AR 377 AL
4 Geg AT g T &, U 37T ST Ter e[ &1 g 3Tdeh U &< &
Pd1? U [t Teh IqaY g Feie TINIH 3R TATE| HER & 7gH & 7gH
Tk = U SiTelT agd BI¢ U F Y& ThaT g, elich Siterd WY 3
UTRYH & & AT o aH TR U Ugd Y1 §qF a1 Ig g T GRS
3R AGI oIl o Siter # B¢ W-BIT GHLSAT ST eTell i | T o 37
T § ThaT ThaT 31 STST G aITelT Goil AT & 9T dhf erd St diet
TeRYE W TaZ UdTdhT hgdl IhdT gl YUTTEG a9, STigH foie,
o=, e 3R FUR & ¥ o7 AT 99 @ik gt gl Ugd deh 3l
Tt oTes 3 gl 3 “Iie, JHH SGANTT & T wdT 3 ab U= Iy
SITeh T T thived DY T ITF DI Yid H I gr SIraf, smemal 3T
TARTEN & AW #d TgT GheldT GG T AT

Sub questions

Question Number : 196 Question Id : 54592722216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TOFT W & WheTdT T el dTel gid a-

Options:

1. » AT

2. v PHIT AIIATeA!
3. = @HardT

4. % AT PHATE]

Question Number : 197 Question Id : 54592722217 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

YRT BT [Ahiad S § 7 g T 1 2

Options:

1. * Mol 9T

2. % ASTHITdeh erg YT
3. * d-ilTch GHEITY
4, v A & Yid IEH]

Question Number : 198 Question 1d : 54592722218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TendT HT & H Ferle@rdT & el SIEd 3

Options:

1. * SEIA BT ITHI

2. % M FUAAT

3. v 3¢ MSEE Ud TRyH
4. » HTTH TaLETE

Question Number : 199 Question Id : 54592722219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FUTT @I I Teell e 3

Options:

1. * TS
2. % T
3. = AfdaT
4. v TaUT

Question Number : 200 Question Id : 54592722220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘I S H UGDd ‘3T ATHIUT DIIC 3
1.%1;4?1313
2. v 304

3. * @1 FAg




4, = g

Question Id : 54592722215 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



Ueh IreaTer ToaT -7 &1 AT F YN W Uia e fev av §
| ITCITET ST €ATAYah U¢ AT Ycdsh Wl H IN fdeshedl H &
e fadeq ol

o

A S Siael kT AT AT &1 AN HV-AlAT ZgRT yoird
de-ATET H HH F Agcd T TRR fRam &1 seirer HeTqEy
T 3THAT F-BI-A-BI¢ F 1 57 §o1 T &1 T F IR
T ol 37T doh ATeld o olay ISH Fleh 8l 3Tl [dehrd
T T TR TR §1 3T TR A S S o femng @ @ g,
& Idd INAH & Fd &) TR & oda 87 3eaa 3T
HAGTR 327 &, 37 Folsh 91 IRAA F7 87 39 &1 fegag
foed Ig o ST T ST TgH-o16H Y AT AT 3HF ar
93 JeAEIFR FR BOREAT 3T AerThT 3707 AR F Tsal
AT I§ I o, W 3TeT 9T [@eqd T god 3779 @9ea 32T
g FAI? SHAT Eh Uk 3ol & Tdd IRSH 3R 9| 8-
& HEleT T AT Siod o YT Sigd 5 BIE TT T A
forar &, AfereT Sad 9T YR URAH F{ T Sedld & A
ey W Ll§'c4 AT G dF Ig & FoF 99” & &3 3 A
N A g A B¢ Q-BIT FAAT SAlel dTell FRI AT LT ofdTe
AT ogT O FoRaT foRaT &1 ST Sl aren gholﬁi JelloleT &7 TR
T G AT AT Taee W AT IdTenT gl HehdT £

N7 AT SH Fh &F Fel q§u ok &1 TorET olgeh o FaT &
“afe, THA 3EANAT Fela T &TATT & O 3=l AT AfFTAT F
Fioad H U 38 HT gict # o g Smaf, sramsdt 3%
fotrel & worsli AT @Y Fhelar JFER TOT A"




Sub questions

Question Number : 196 Question Id : 54592722216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9T 817 & Tholdr T drel dlel &l &

Options:

1. = TGl

2. v AT HATIILTeT
3. * SAARS

4. % HHUT FHAACG

Question Number : 197 Question Id : 54592722217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT &1 [ThAd 32T H o 8l T HROT &

Options:

1. = siENTeleh el

2. % JTololllcieh cOaEAT
3. = dehalleh THEITT
4. v A F 9T 3eEAd

Question Number : 198 Question 1d : 54592722218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

raT ¢ &7 A Tafzaar & v a&T &

Options:

1. = EAT FT el

2. = 3R A9eelcl

3. v 3¢ ToreTw va aisrA
4. = giffHe Toeam

Question Number : 199 Question Id : 54592722219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TUear &7 3T Aenw =g &

Options:

1. = I
2. % foredeT
3. = 3fhael
4. v Ausa

Question Number : 200 Question 1d : 54592722220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T oTsE H TgF ‘3T SGTRLTUT <hife &

Options:

1. = TcIT
2. v 398t

3. * &R Ieg

4. % Gl




